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A (g T AFE 93 FaSire g1 2(e1 Al W FAQA &) (FIA! Sifsfae OMR Tea2l@ e 23 =11 |
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TEa7[q 3R 2hofE Tl (ReTIF ST AW S IR Fw 1 FCE, SIRCE ©iE SIS A0e 9l 1 (A |

ATFIFTE Aot e WS B Aifiseim Sitm @iet T99 S92 Tere 21|

A oo 267t Tive AT erieitar T @3 AR exsitad @re T9aH OMR Teavitad fHfwe i
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ffre =i A forate =1 @3 72 3e A 6 FiteT e =31

AT 7 LA TG AT (rough) FIST 2RITT (ST BT TS AR | AT 278! (rough) e
OMR TEI919 | O (FI LR TS FACS 2 11 | AW 2T @2 257! (rough) e OMR T&9ica
(R | AW 6 IR IR, O (12 OMR TR/ oI T 203 1 |

«  STHR S i ACHACE (I LA SO TS 20 N4 QR SPIf! 20e1 SRANEn AFAC a2 eiFe g e
ey 1 S|

AT SR (I ATFHLNE ATTHIEH Sfiof FAF Sy rewl A 11 |

ATFRITIR 2R 25/FCF @I g AT (@5 (R3S (i, P09 G- (I C@iess aiiess At
wNioifeF AT Topiint T2 T Sfe e ZE A | ARSI I (ISP TAR SReTTe 0 (el
T A o1 M TR SRS ATHIR FTPTR Geik S IR, O SITR SICialy (el 91 203 |
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M| TSTeAT OMR ftAe faeg@ STH=Te ATEFTE S ST

o TaforRRT Was |l a0 | Ted SAFSIE WUEE g e e SEEe i SHme s
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R fersmieran e s e fafefer anfed, ity faemest we e @remamTe e feetean
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o TH-Yiege B e T w gdene o1 e FoaR s w1 ° fad |
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‘A Tuet, 9t OMR STR-Ua | U 71T diera | ‘A’ Tel@=T &9 a2m OMR STR-Ueh U ‘A’ Rl STHifehd ST
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o Tlenell Gt TE 1 T (rough) F1 I¥-JRedept H U T TIM W X Hehil | TF & OMR SW-T5 AT
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What single word would mean the same as “the base frame of a car or bus, or any such wheeled
vehicle” ?

(A) Framework (B) Chassis (C) Cabin (D) Monocoque

After picking up his passenger at the office, the taxi driver drove six kilometers before he turned
left at the post office. Then he drove for eight kilometers to arrive at the airport. By a straight line,
how far is the airport from the office ?

(A) Ten kilometers (B) Twelve kilometers

(C) Eight kilometers (D) Fourteen kilometers

(B3 BIFF I FIAETTS TGP NG Ofet = ARG si2 wfoas IR TFea s, T© (of
AETIE IR o [FERGR si2 sfoas R [ awe AAmtar 1 S o[ {6 37— @RS @
0 2

(A) 7= R=fee (B) R el
(C) I REAIRITR (D) 5 Reenfiom

ST ©IF TG (SR 23, T1fR 5 (AT SIReea AN e (IS (emi iieel = [ReaifaiGia 211fS siferaies |
SR S [FCERIGIR 2M1ME BT (o e (7T | TR, S (A [REe 0 90 2

(A) W= RCeTfNeRE (B) = ecenfoE
(C) It ReeafR (D) >m Reeet=om

IR IrEEEiE aegfatwme e 9 Gwia SEar 6 6. M semee < 1 'sme fa
strfafy ffdam ) faft e 8 for.fa. arememm forll fore’ Mo ditker | oS Aagfatee fove’
MATEA oF T ?

A) 9 fe.fa B) 4w
(C) == f.fa (D) 9o frfa

FTATerd H 79 AN I o % e, THT etk SR | 9 g | Tedt 98 fhairie =en | iR 9
TAE T3 W g % fAu o1e forcimiex 7o =ret | Uk et T 9§, waferd ¥ g6 o7y fohadt W T 2

(A) <F TR (B) ®Ng feh.H.
(ORI CREX:IA (D) <icE fon.mh.

Identify the Conjunction in the sentence :
Rakesh and Subham are good friends.
(A) Are (B) Good (C) Friends (D) And
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After how many days must a newly registered vehicle renew the Pollution Under Control certificate ?

(A) 1 year (B) 2 years (C) 6 months (D) 3 years

TGN AGTT T ¥ ARG I e 7)ol e aivel fager @il siq &3 =l 2

(A) 1= (B) 23w () 63 (D) 33

@3 f5 Tge fafers (EfGEE) Az T e s7=sjef Face1 ezl fagel eieiag (TSR elraem 27 ?

(A) 19 (B) 23= (C) 63 (D) 39=

T M af<rEe EreHsHAEE 98 Mo A 9 3T<R el hRAAaRa! aHi ?

(A) dER1 (B) IER 2 (C) TH6 (D) MR 3

T T GSiehd a18d o fIT HA-91 §9F STy g B TR YgHOT =01 JH101 9 i SAERAs® Bl © 2
(A) 174 (B) 2@ (C) 6wEH (D) 3ad

The triangular shaped traffic road sign falls in the category of .
(A) Mandatory (B) Informative (C) Cautionary (D) Emergency

QIR SIgfes T 729 B2l RG @T wwee, Grl 2R |

(A)  SCORETF (B) bR (C) TR (D) GRIEETH
fage wigfen Gifes 72 @ «@fk sefe tib |

(A) TORERE (B) BN (C) TeFOIETE (D) S PIET e

ARG A AR STEnf-oremd 7eef 2tk ARdmaEt g2 |

(A)  faedmsmi (B) @RisTR (C) HHAeTR (D) @ TR
R TR w1 AT g fowg g goft § o € 5% gl

(A) A (B) H{EAH® (C) wrEgH (D)  STUIdRTEAA
The capital of Australia is :

(A) Sydney (B) Canberra (C) San Francisco (D) Sao Paulo
ST I (2R

(A) e (B) @Al (C) = FIfE (D) ®”e 2TeT
SRR A ¢

(A) Trel (B) Gl (C) AW FPPIE (D) Al ST
EICICRIIERISRICIERIE

(A) fac (B) ORI (C) UM wHAfqE®' (D) ¥R dEa’
e feran i TS ©

(A) foet (B) eI (C) &7 whifawn (D) §f u=ell
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7.  What is the minimum required educational qualification for obtaining driving licence to drive
Non Transport Vehicle ?

(A) Class VIII Pass (B) Matric Pass
(C) Class IX Pass (D) Not Mandatory
7. SifAIEE A GiEfe] AR SR A LATAGHR PTos RFae oge! (202 2
(A) OB (XN Tl (B) G A9 TElef
(C) = (=T Tl (D) =4l TR
7. SRR IR BIER SRl Siq (GiRfe] ARE™) AR TR LRIGH R Pees FEFete (ielrel 1 2
(A) =B (T T (B) T T&Kf
(C) = T TEef (D) JNTSIETF 7
7. TR U A MR WA OrE S dea fog areTeen 9% arait et A o o 2
(A) TGl TEA A (B) Hfga I
(C) el T 3= (D) TMIUR 7T
7.  R-ufaed ara Tam g SEfan aedy & foru feifvres e St sTevEea §
(A) heT TS U™ (B) Hfeswk 9w
(C) e A uE (D) sTfFemd &
8.  The fraction equivalent of the recurring number 0.222 . . . is :
1 o1 3 o2
19 B) 3 © T D) 3
8.  (oMWeolfeia MRl 0.222 . . . T FTIgeT) SAIKH 2
i} 1 3 2
19 B) 3 © 1o D) 3
8. SIRG IR 0.222 . . . & ANQET S 2T ¢
! 1 o 2 2
(D) ® © =5 D)
8. 0222...17 oAM dEEERE! fog
n 1 o 2 2
19 B) 3 © T D) 3
8. Tl @ 0.222 ... % FHged f9=T ©
i} 1 3 2
19 B) 3 © 5 )
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9. What would come as the next character after B, E, J, Q ?
A) T (B) U < w (D) Z

9. B,E ], QI <SG T T 2
(A) T B) U < W (D) z

9. B,E, J, Q3 “FS! ol [F A 2
(A) T B) U <€ W (D) z

9. B,E,J,Qf7 a9 gi@sn s ?
A) T B U <© W (D) Z

9. B,E J, Q7 95 3TeT 31&R T ST ?
(A) T (B) U < W (D) Z

10. Each angle of an equilateral triangle is :
(A) 90° (B) 60° (C) 45° (D) 30°

10. 95! RIR fages B! (Pl M ¢
(A) 90° (B) 60° (C) 45° (D) 30°

10. 30 TR fagrem wfefb (i =& ¢
(A) 90° (B) 60° (C) 45° (D) 30°

10. 9 TR et ARG @ |1 giEe -
(A)  90° (B) 60° (C) 45° (D) 30°

10. U GHaTg TS 1 Y3k hIvl 6T HE ¢
(A) 90° (B) 60° (C) 45° (D) 30°

11. Where was the first capital of Ahom Kingdom established ?
(A) Rongpur (B) Garhgaon (C) Charaideo (D) Guwabhati

11. SV AFSHF 2L G| F'© e (2w 2
(A) 9T (B) swaife (C) valzme (D) @G

11, SICQY ASCEA AT AT (T Fife =7 2
(A) WA (B) “leaife (C) balzms (D) @G
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11.

11.

3R HHR MR fifafas o arafral st MeEHmE ?
(A) I (B) TIeTE (C) =Eed

3R HHT ! Tecll USTHMT shel Tfa st T off ?
(A) TR (B) e € =ER

12.

12.

12.

12.

12.

Why are Red and Blue lights used in Ambulances ?

(A) To alert all drivers, even those with colour blindness
(B) Because they look good
(©

(D)

Red stands for danger and Blue for emergency

They can be seen from far

YRS 6| B<: Tl FLD 5 92 791 2 2

(A) Tl B, TS (T AT, HoF S99 A
(B) CTA® ©ie Fall (RER AT

(C) 36 I R ST TIeAl I TSP S IR
(D) VSIS 2«1 (@2l (oAl ™

)
)

S (& A € 1o S 72T 71 2 2

(A) TV BIFTF GTF TR IfF0! BNCZ SITRCE o FAI Slf

(B) PlE st (TS ©ICaT]
(C) #IeT S [ 3R I ST Sl
(D) 9T 77 (A @ A

THCg e | T ST et Tmef snferst aeram < 2

(A) TS FEARETRRE!, STEa e @1 fadra@ie, [ e

(B) IS TAE@™
(C
(

D

)
) & MERRE! TMSHARRAT el

Tt B e TR el St = STEnT i ST € ?

TSI Whie MHIfeE! RIRATET SR e g@ms i STererd! ®RHmE

(A) T grRER w1 T w * AU, =T 9o foh 7 Sferas At A by off |

B) i ar=s femd ¥

I QW W1 S Hhell 7 |

AT {1 Tl 1 <9t § TR Fien smardenreny feafa & fau )
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13.  Which of the following is not the name of a Continent ?
(A) North America (B) South America (C) Arctic (D) Antarctica

S N ey

RS (0] GF TYHF I T2 2
A) TEEERS  (B) uw w@ERS (C) O (D) @BHOH

13.

—~

13. IR A G5 TR I 717 2
(A) TeEwiwfEe  (B) v SRS (C) R (D) SHFGRHHH

13. TR o« HTHE1 BEHT 7T ?
(A) ET1 STHRR (B) Wien MR (C) UHE (D) T=RfeHm

13. fr=fafed HH-91 U Heg &1 T 6§ ?
(A) I eTHfE (B) <fau smftmr Q) A& yet (D)  3ieTehfaeht

14. Which colour of paint is prohibited on vehicles except Defence Vehicles ?
(A) Orange (B) Saffron (C) Olive Green (D) Dark Blue

o

14. foTH RN NMTR AW I NI (Fiwco! 32 [l 2

(A) F& (B) (ot (C) TEwiE GeG™ (D) ¥« e

14. ST RO Aed ToTe oW AL (&I T Hig 2
(A) I (B)  Coleml (C) TR I (D) 4IG e

14. o9 e @ Y@ gt MR S e e MREre B /I ?
(A) TR-FHAME  (B) el T (C) Sa®E-Mi s (D) HHE fer e

14. &7 SR I BISH T aTeAl R fovd 11 o1 Ue afviq § 2
(A) -TER (B) haf&m (C) SqA=q (D) & el

15. Ashmita Chaliha plays for India in which sport ?
(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Lawn Bowl

15. el BleTE @Ry (IeTe ©IReq (T (AT ?
(A) @IS (B) (53# (5= (C) =19 Gy (D) o193

15. STl Berdl (1 (451 ORI 20 (A 2
(A) TIeRT (B) (BRweT (Bl (C) =W G (D) &M I
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15.

15.

i ‘Clrt’l‘élm URA I o AREATITE! el ?

(A) defa=ed (B) el dfE (C) o df= (D) o 9«

sifaran =iferer ford B ® vRA & forg Serdt § 2
(A) Sefied (B) <o @ (C) @M = (D) @ a=d

16.

Which word of the following list is not a pronoun ?

(A) He (B) She (C) And (D) They

17.

Which of the following is correct ?
(A) Good : Better : Best (B) Good : Gooder : Goodest
(C) Best: Bester : Bestest (D) Better : Betterer : Betterest

18.

18.

18.

18.

18.

How long is an applicant required to wait to apply for driving licence after he has obtained the
Learner’s Licence ?

(A) 30 days (B) 60 days (C) 45 days (D) 6 months

AR A SR SR Y TN PIRS GiEfeR siRibeed A S SREE G SRS JiTos
TRSlIeT T SICoe) 3 w15 2 2

(A) 30 s (B) 60 = (C) 45 s (D) 6%

IR RS SRl ofd (FF AR AT 79 GFG SRS B Sl Atad (Giafes
HIZE) S TR Gy P el S| IR ATAGH 2

(A) 30 = (B) 60 = (C) 45 = (D) 63

Y fomrram o e dRS AREHEE o eE S g aEa-a arEE RS oz e eE ?
(A) ¥M 30 (B) WM 60 (C) ¥ 45 (D) TH6

g ATH AT ARHT & T q& T TG Tal X Gohal 56l qoh STk I Y ¥ Y 3@y & fo
TR ARHT T 2, 98 A T

(A) 30 fem (B) 60 fe (C) 45 fem (D) 6 HAfed

19.

Which language name is correctly spelt ?

(A) Franch (B) English (C) Porteugese (D) Spenish

Paper-V/ID 12



20.

20.

20.

20.

20.

Which of the following communities of Assam features prominently in Rita Choudhury’s novel,
Deu Langkhui ?

(A) The Kacharis  (B) The Mishings (C) The Tiwas (D) The Mottocks

ol BT TATE (re FARYE © WRERS (P TmiTg A J4ros TEed SR ?
(A) IR (B) faifbe (C) Tl (D) 6=

el (AR TopPT (78 =NkYE SPIGR RS STemReler N (@E ReTeiE S (e 2
(A) IS (B) It (C) fex (D) 6T

Jan Sl Tt ', 9 AR, A1 M o« gk g faen e ?
(A) &M (B) faf§ (C) faen (D) WZh

Tar Al & ST <3 ARGE H oTHH & frAfafed § 9 foRe weE S yEd | g9 7 ¥ 2
(A) wBR (B) fuf&m (C) e (D) HIE®

21.

21.

21.

21.

21.

The place value of ‘5" in 425639 is :
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 % ‘5’ B W (20T ¢
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 TR ‘5’ G FT T ¢
(A) 5600 (B) 25000 (C) 5000 (D) 5639

425639 319 ‘5’ 7 gk | |1 ?

(A) 5600 (B) 25000 (C) 5000 (D) 5639
425639 H ‘5’ T TIHE TE T
(A) 5600 (B) 25000 (C) 5000 (D) 5639

22.

“Two weeks from now, the festivals would start”. Identify a single word substitution of the
underlined phrase.

(A) Weekend (B) Month (C) Fortnight (D) Year

Paper-VID 13 P.T.O.



23.

23.

23.

23.

23.

Which of the following equipments is mandatory for petrol vehicles of India ?

(A) Spare wheel
(B) Windshield wipers
(C

(D

Catalytic converter

)
) GPS tracker

TIFeF (2[5 5 BifeTs oISt 13z wffee @iy sefer 4! e ?

(A) e[l 53

(B) TR&RFT 27T

(C) TEOF T FATGIF ((FOIETROF FTSIOR)
(D) &9z GFR

o o

RIS (S TG AGORETT ?

SIACS (251 bifeTe TR S
A) feiie bl

B) T3eHIT €A

C) SR¥GCHA FATTFIA! ((FOAIZHS FTSRBI)

D) fefsiga Greim

(
(
(
(

qRATE Y2retsil Qe MRRTE e o« J9ar TIRAT 81 S71gs! 2
A) W TER

ST A

C) helfelfdeh HTHIE

D) SId.TE. ¢

B

~—

(
(
(
(

IRd & U2ial areql & forg fefafad & | we-a1 s sifar &2
A) Al =i

B
C) A uRedsh (hefafes wady)
D) e geht

faesiee & aRW

~—

(
(
(
(
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24. In which sport did Deepa Karmakar represent India ?
(A) Badminton (B) Shooting (€©) Gymnastics (D) Table Tennis
24. T FHHIE @R (deTe TR aifsfifig Fffe 2
(A) @RS (B) #fbx (C) femmifes (D) 5371 (G
24, T FPE SO (@I o iy sz ¢
(A) D (B) wufbe (C) femmiftas (D) (Bf@ (B
24. <91 HHEBN YRAM ARE A e ?
(A) e (B) i (C) fomTfecs™ (D) e dfE
24. <9 FHFR | fore @ § wid w1 gfaffue fon ?
(A) defHed (B) gfen (C) forTfeesd (D) <o |
25. The perimeter of a rectangle is 34 cm and the length is longer than the breadth by 7 cm. The area
of the rectangle is :
(A) 40 cm? (B) 60 cm? (C) 238 cm? (D) 64 cm?
25. B! STSCFAS AR 34 (5.5 ST TAR T W9 22T WA 7 (6.7, e | SAOrwaco CFawe
2=
(A) 40 v.f2 (B) 60 (v.fil.2 (C) 238 (b.fi.2 (D) 64 (5.fi.2
25. 30 FRMOCHCE “AfH 34 G @R ©F 0 20=F (50 7 Gl @ | SNTerwad I =1 ¢
(A) 40 (Afs2 (B) 60 GAfs2 (C) 238 G2 (D) 64 (AfP2
25. HIAE eHat 9rffe fammn 34 9.f0 o fafs a=erean srefrgs 7 9.f0 afaa) smafq
Shiferdl -
(A) 40 9.f72 (B) 60 H.fA.2 (C) 238 9.fq.2 (D) 64 H.f.2
25. T AT 1 URATT 34 AT ¥ IR <faE, deR § 7 9t Afeeh €1 SAd T &R ¢

(A) 40 TR (B) 60 TR (C) 238 12 (D) 64 TR
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26. The sum of two numbers is 12 and the difference of their squares is 60. The difference between the
numbers is :

(A) 3 (B) 5 © 7 (D) 9

26. YOI FRAF (I 12 iR RN YBIF 391 ~A127T 60 | A GO 211y ¢
(A) 3 (B) 5 © 7 (D) 9

26. b IR (@IS 12 I3 SR 09 AL 60 | 727 757 o112 27 ¢
(A) 3 (B) 5 © 7 (D) 9

26. HMAH SFTHIN SSTermEEn 12 AR foaRf s <FE e 60 o SHSE 9 e m e T -
(A) 3 (B) 5 < 7 D) 9

26. < GEAS! 1 AN 12§ A Tk T 1 R 60 T 1 A o o= H AW T
(A) 3 (B) 5 ) 7 (D) 9

27. If14+2+3+...+9+10=>55 then 2+3+4+. . .+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

27. AW 1+243+...+9+10=55, (SCT2+3+4+...+10+11=2
(A) 65 (B) 66 (C) 64 (D) 62

27. AW 14+243+...49+10=55 T O@ 2+3+4+. . .+10+11=2
(A) 65 (B) 66 (C) 64 (D) 62

27. AfC1+243+...49+10=55, A 2+3+4+. . . +10+11="
(A) 65 (B) 66 (C) 64 (D) 62

27. ACT+243+.. . +9+10=55 W 2+3+4+. . .+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

28. In which event did Neeraj Chopra win Gold Medal in 2020 Olympic Games ?
(A) Discus throw (B) Hammer throw (C) Shot put (D) Javelin throw

28. 2020 SIS (¥eTS TG (BIAE (@FNRY (4TS AT 2WF S T ?
A Tk’ (B) IR’ (C) =570 (D) (eCSlm &

28. 2020 ST FIOR (@ "I (30905) TS (B19T! Fof=v feren 2
(A) &= e (B) @Y (C) =670 (D) (Srefew &
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28. 2020 3TfcAfeh AGRARE RS IR oel Feirare 991 TSl HiAQIHH ?

(A) fegswm g (B) ®URY (C) ML YE (D) Siufe o
28. IS =A9el 7 2020 Acifus @al § forg Tq9i § w90l ggeh Sirdr 2

(A) fewmg o (B) TR (C) Weqe (D) SEfer o
29. Dangerous driving means :

(A) Jumping a red traffic light (B) Violating stop line

(C) Using phone (D) Any one of all three
29. fRoeEms sG] Il P (et 2 2

(A) < G o125 SR (B) Bl o11Z5q Toike

(C) IR IR (D) fefiebr & @i @bt wcufoe 2
29. fRofeema oG BTl (OGP Qizfer) Tw0s (@RI 2

(A) e Gifrs qifen SRl (B) %5 a2 F1ew

(C) (T IRE A (D) feAloa @ @I 90
29. Tirq-arq MR A St -

(A) i Rk afergt A (B) U e Hif T

(C) T dEEA™ (D) M 31 SrEfEsmn JE Sree
29. AT SIEfe Y

(A) o Sfthek it dre (B) MU e whl Secisd il

(C) IF I YA HEAT (D) i ¥ 9 %E TH
30. The area of a square is 169 metre?. The measure of the side of the square is :

(A) 17 metre (B) 19 metre (C) 12 metre (D) 13 metre
30. @5 INCHFAT CFaTe (2= 169 fNHR2 | IfCHFACHN AT (Sl 23 ¢

(A) 17 RER (B) 19 o™ (C) 12 [FER (D) 13 f5oR
30. @6 qeofa FifeT 169 FioR2 | 39fbw i vl &1 ¢

(A) 17 Bo= (B) 19 6w (C) 12 o= (D) 13 o=
30. HIY S AT 169 m2, o S SAREf-o HAaf S

(A) 17 m (B) 19m (C) 12m (D) 13 m
30. T o hT AABE 169 HE2 F | a7t Y 9ol 1 7Y T

(A) 17 "X (B) 19 HiX (C) 12 "X (D) 13 "X
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31. Identify the Antonym of WORST.
(A) Better (B) Best (C) Good (D) Fantastic
32. Identify the correctly spelt term.
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
32. 4% LG D! ool T |
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
32. S qAIGTE *<AfG fbfere e |
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
32. TIRIfY T W o -
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
32. W& SdA! ol WeR hl TE=A |
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D) Trafic Signal
33. Babli was born a year after her parent’s marriage. At present Babli is six years old, and her father
is twenty five years older than her. If the father is two years older than his wife, at what age did
Babli’s mother get married ?
(A) 22 years (B) 23 years (©) 21 years (D) cannot be determined
33. fore-sIies AR @z foige AIRETIe o (2(ee | IO ARET IS I B IS SN oI 3301 oize(s sifiz I
wIfEs | i fored 51 (997 AFIT TTO(F 12 IR WfEF, (ST P T2 IT AT e [KAIZ (2 2
(A) 223 (B) 233 Q) 213= (D) ffy sfa @Il
33. TromreR feam @ T2 »f% IR & & | T TR 0 & T, =8 O forel i (e ATl e
TG | I AR O G (ACF 2 IR T 2 O, AT T F© IR R R AT 2
(A) 223 (B) 233 Q) 213 (D) feffze <=1 =
33. draferan for-foerf genf sER § 396 SiHm 1l | S Sefern § SR SR fat fawrn fafrgg 3 fen
SR | e foe maft fafsfgs ImR 7 A, steen smefa fommn o seieTe ge S ?
(A) A7 9ER B) ANagmemrR () INIIWR (D) FAEEN
33. SOl 1 S 39eh HIAI-fudl o WS & Tk A 918 geTl o1 | fiheierel Jeicll S |id i § iR 39 faan

Y 7= O 98 € | A e oot uelt | < 9 S ¥, o Selt i o7 i vl fRe sw H g ?
(A) 22 9 (B) 23 & (C) 21 9 (D) @9 =&l fohan s weha
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34.

34

34

34.

34

A yellow coloured number plate on an Indian vehicle indicates :

(A) Electric vehicle
(B) Commercial vehicle
(C
(

) Ambulance
D) Governor’s vehicle

TSI AR QAL IR AR (2T F i 2
A)  Eges Az

B) aifelfers e

C) g™

(
(
(
(D) SrSHoAeR v

SO NfETe 2o q0ed TRACEG Foi 36 2
(A) Cgfes e

(B) fifer< sife

Q) w2 e Szerd AfTzreR M (S
(D) Se=iiceTa 7l

RATE MR TR herare T T 2Teel | FSiedl ?
A)  Hifeerast @ MR

B) RIS MR

C) e I MR

D) TSR mR

~

(
(
(
(

IR Ae R et 1 i FoRwie 7 <Imdr § 2
A) T aed

B) dfuIfsaeh 8-

C) T

D) TSTUTed <kl T8

(
(
(
(

35.

What is the antonym of SLOW ?
(A) Fast (B) Reverse (©) Side

Upwards
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36. Find the odd one out.

(A) 436 (B) 298 (C) 746 (D) 639
36. IfSET FRYICH! efy r |

(A) 436 (B) 298 (©) 746 (D) 639
36. R 4o (77 T ¢

(A) 436 (B) 298 (C) 746 (D) 639
36. s fom

(A) 436 (B) 298 (©) 746 (D) 639
36. SIS oI TdT TN |

(A) 436 (B) 298 (C) 746 (D) 639
37. Oja pali is a religious component of which region of Assam ?

(A) Lakhimpur - Dibrugarh region (B) Silchar - Karimganj region

(C) Haflong - Hamren region (D) Mangaldoi - Nalbari region
37. SEIS{IfeT SPTE (I ST G L CHMI 2

(A) FTRN7F - [TZ91T wizea] (B) T*retos - SfRwaig wiwea

(C) TTER - TSI I=es] (D) S - IS S
37. SEIS{Ifel SPINR (Pl SIECeT GG 417 BT 2

(A)  IRF7 - TCe S1ee (B) T[To% - SRIG S1%est

(C) TR - QG e (D) ST - oINS SI2es
37. S ST a9 ST B SRR oy T[fegarn ?

(A) &iAY - fegme (B) fHereR - wfviS

(C) Bt - BFRA (D) TR - TeAart
37. 3T Urelt 3R & fohg &5 1 U enfdes wew § 2

(A) aEHR-fegmg &= (B) fTocreR-wimris &=

(C) TIheliT-BAE & (D) R -TeeTS! &
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38. The sum of the angles of a quadrilateral is :

(A) 90° (B) 180° (C) 360° (D) 400°

38. Bl GOYER (e A Y (NI 2
(A) 90° (B) 180° (C) 360° (D) 400°

38. 3D POOISA (FleIfETa G (iaret 2o ¢
(A) 90° (B) 180° (C) 360° (D) 400°

38. WY TrETere T @ R S -
(A) 90° (B) 180° C) 360° (D) 400°

38. U g & Ul BT AT A
(A) 90° (B) 180° (C) 360° (D) 400°

39. Validity of driving licence for drivers of goods vehicle carrying Dangerous and Hazardous goods is

(A) 1 year (B) 2 years (C) 3 years (D) 5 years

39. fIovees % Fods AT FHEA AT bletnd Gizfee ai3meel (IR v (202
(A) 13 (B) 23w (C) 33=A (D) 53

39. Rvieses @3 Qe AN 2/ 1 AR IR SR S0 (GiEfe) #N2eTT) (R 28
(A) 13= (B) 23= (C) 3= (D) 53=

39. TiIQ-ag TR WISl IEEhR SeTguT HeR TR Wt gefy ered-af seremf fomm T |
(A) dER1 (B) WMER2 (C) <MER3 (D) ¥MER5

39. WA IR EH T WHE A SH 956l HietaTgs died o 9ol & [t SEfaT asdd st dudr stafy §

(A) 1= (B) 2= (C) 3= (D) 5ad

40. Fill in the blank :
Raju his intention to contest in the next elections.

(A) Wished (B) Conditioned (C) Declared (D) Promised
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41.

41.

41.

41.

41.

Which of the following numbers has the highest digit in Tens place ?

Q) 736 i) 269 (i) 958 (iv) 219 v) 793
(A) () (B) (i) © () (D) (@)

f5fere FR! AT 72T FIT© AT NN SRFCH! R 2

i 736 i) 269 (i) 958 (iv) 219 (v) 793
(A) ) (B) (i) © (@) (D) ()

IR I FRE W ZIC D T AR ?

q) 736 i) 269 (i) 958 (iv) 219 v) 793
(A) () (B) (i) © () (D) (@)

MR a6 TAfsmmE G = e e faam €2

@ 736 (i) 269 (i) 958 (iv) 219 (v) 793
(A) ) (B) (i) © (@) (D) ()

frfafaa & @ fha S &1 oiF @R & o W g9 31 2

iy 736 i) 269 (iii) 958 (iv) 219 (v) 793
A) () (B) (i) © () (D) (@)

—_~ o~ —

42.

Which word is incorrectly spelt ?
(A) Expert (B) Carpet (C) Dapart (D) Puppet

43.

43.

43.

43.

43.

A person purchases a defective item at I 1,500, repairs it at ¥ 900 and sells the item at ¥ 5,000. The
sales tax he had to pay is ¥ 100. The net profit percentage the person earns on selling the item is :

(A) 80% (B) 60% (C) 120% (D) 100%

G TCE @Bl a1 AN T 1,500 © @ FE T 900 (F GRS FRCe1 Wige AW T 5,000 © [T S0 |
fAfgae i@ (o€ T 100 »Ifieiy 3 T a1 AWM [iE 3R TgeE o T4 7o e =foikH
AR 2 ¢

(A) 80% (B) 60% (C) 120% (D) 100%

aFe G Z 1,500 M @3 @)l 78 T 3, T 900 e e 36 @3k % 5,000 e <@ [ea 36 |
I (@ s 9 e 2l w1 12100 | 98 Ton 3@ afes (b oifere sces *reie =1 ¢
(A) 80% (B) 60% (C) 120% (D) 100%

T AAEE 18 M S 99eg! 2 1,500 T SEAE 2900 1 wRm 29 25,000 1 wEieaaE | fo
%100 B S TSI 1A | F JEGEI EHAM {9 Fie QHIEAE A staraist smer -
(A) 80% (B) 60% (C) 120% (D) 100%

T A 1,500 T Teh TE %] T &, T 900 TR ITh! AU hidl § 3R 37 & i T 5,000 T =l
T 13U S fosht S M1 A1 98 T 100 ¥ | & ol e W Al S Y5 o gfae ifa sar e a8 ©
(A) 80% (B) 60% (C) 120% (D) 100%
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44. The penalty for driving at excessive speed by a Light Motor Vehicle driver is
(A) ¥ 1,000/- to T 2,000/- (B) ¥ 3,000/-
(C) T 500/- (D) ¥ 5,000/-
44, =Y AT Q4R ST ST @91© 5G] GEETRR e (22
(A) 1,000/- 3 2RI T 2,000/- G (B) ¥ 3,000/-
(C) ¥ 500/- (D) ¥ 5,000/-
44, oY AR BT Bl SrjfE SifOrs A2 Bl G S 26
(A) ¥ 1,000/- (= T 2,000/ - (B) ¥ 3,000/-
(C) T 500/- (D) ¥ 5,000/-
44, T S AR MR T SiEE MEfs MR A SHeHE e SR S
(A) ¥ 1,000/- F%w@T 2,000/- 7 (B) ¥ 3,000/-
(C) T 500/- (D) ¥ 5,000/-
44, T TR TR AT §RI T Ifd | TMEl = W ST g
(A) % 1,000/- 9% 2,000/- qh (B) ¥ 3,000/-
(C) ¥ 500/- (D) ¥ 5,000/-
45. The decimal representation of 3/10 is :
(A) 05 (B) 0.75 (C) 0.65 (D) 0.25
45. 36/% T WA IS Y1 I 2 2
(A) 05 (B) 0.75 (C) 0.65 (D) 0.25
45. 36/% & WIS 2l R A 2
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
3/10 :
45. o5 @l oI drEmeE e @i
(A) 05 (B) 0.75 (C) 0.65 (D) 0.25
15. 2/ o comrem fremm #

6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25

Paper-VID 23

P.T.O.



46. If Raghu says that his mother is the only daughter of Himadri’s mother, how is Himadri related to
Raghu ?

(A) Brother (B) Maternal Uncle (C) Grandfather (D) Son

46. M IYE I (@ (9€T Y AT Ngd @I GRS (0T NG} I3 FICs & 777007 7194Fe 29 2
(A) ©r9 (B) = (©) FHTTTSl (D) <&

46. MY I @ o A e M @i 471, oizee Zaifug 797 e & 79S¢
(A) ©R (B) = (©) forom= (D) (==

46. SIfc TeT g fs fafq fommn femfs fomf wrer’ frarsn, T femfes @ 9HmI < 2
(A) HI™ (B) fomm (C) fosit (D) fwgren

46. ¢ T Feal § fr STt A7 fewfs i A o) Thalidt 931 €, o femfe 1 T &+ gey €2
(A) W (B) Hm (C) == (D) o=

47. Who is known as the Father of Indian Constitution ?
(A) Pt. Jawaharlal Nehru (B) Dr. Bhimrao Ambedkar
(C) Dr. Rajendra Prasad (D) Dr. Sarvepalli Radhakrishnan

47. SRS HRAW (A9 Fh0A I &l AW 2
(A)  “ffes GaRwEE @2 (B) T° SRS SNTEHIF
(C) T° T M (D) T° I FIFe

47. oo RRUIER T fNE #Ifdfos & 2
(A) ~lfes TeeeleT (TzF (B) T OIS I
Q) T AME™ =AW (D) ©° FE ARG

47. 9Rafq Gfafse fowm emam 9r fafasm ?

(A) . SR 186 (B) T fummE smaTR

(C) <. U&= UHR (D) ©. Hegeel THHUHE
47. YIRAE GfAHM % 596 & T § R ST S0 7 2

(A) . SR TE® (B) I fimE sfae

(C) <. &g TR (D) Ef. Haqcelt qHTHIH
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48. The maximum punishment for drunken driving as first offence is

(A)
(B)
(C
(

)
D)

Upto 6 months imprisonment

% 10,000 /- fine

3 10,000 /- fine and upto 6 months imprisonment

< 20,000 /- fine

48. TG 0 9IC! bIel FRCT LA IR AR AR HMMfE o

A)
B

~

(
(
©)
(

D)

6 Z 21T P

710,000 /- T Sl
10,000 /- I SR WF 6 AT 21T TS
T 20,000 /- T Sl

48. TPIT& 20 IS DIeWE Ty LN SR 2T A =M% 2

A)
B

o =

(
(
©)
(

6 ST 7T PV

Z 10,000 /- SR
10,000 /- SN G- 6 T 2T IS

D) ¥ 20,000 /- SR

[Nl a

T

48. S St MR TR AfS <EE gqsis,

A)
B)
Q)

(
(
(
(D)

48, T ¥ TSl TN W TSl IR hi STHHad Tel

A)
B

~

C

~

(
(
(
(

D)

T 6 Foq oY Tfa=re ™ SIFTA

T 10,000 /- SIHMT

10,000 /- SRHEMT 2R F 6 fam Sed wferare e S

T 20,000 /- SIHET

6 TEH T i e

10,000 /- ST AT
% 10,000 /- =T AT 31X 6 AEM T &I He

20,000 /- ST SAMT

ISIN|

BUSERIESINIEIESIEIE

gl

49. Choose the correct option : Teacher

(A)

Scold

(B)

Scolding

©)

Puja for her bad handwriting.

Scolded

(D)

Scolder
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50. A number when increased by 11% becomes 777. The number is :

(A) 770 (B) 750 (C) 710 (D) 700
50.  CPIC! 9B AT 11% Jfan FISCT FANCGIN S 777 & | ALAIH! (202 2

(A) 770 (B) 750 (C) 710 (D) 700
50. @36 RN 11% I T 777 = | IR &6 ¢

(A) 770 (B) 750 (C) 710 (D) 700
50. THY SFSHME 11% TR SIRE6A 777 S| o STAfSHe -

(A) 770 (B) 750 (C) 710 (D) 700
50. T G 9 11% 9 9@ St § df 777 8§ 9t €1 98 9@ ¥

(A) 770 (B) 750 () 710 (D) 700
51. Which of the following is the name of a Continent ?

(A) Austria (B) Armenia (C) Andrea (D) Australia
51. [RRIRS A2 FINCGT GO SRIE FIN 2

() gz (B) et (© afgm (D) e
51. TIoA (AT < TR AN 2

(A) =il (B) et (C) wifwr (D) SR
51. TEMEIM J9@1 Y BIexd g ?

(A)  stfer (B) smaf (C) d== (D) e
51. frafafed § & $9-51 T 98T &1 T § 2

(&) sHfezT (B) eHfTN (C) e (D) Hezferan
52. The Bordubi Tilinga Mandir is near which town ?

(A) Bongaigaon (B) Dhemaji (C) Tezpur (D) Duliajan
52. I9GR fOferel N (Fiv<e w9199 Sisre SRFe ?

(A) T=iesife (B) caif& C) Cog7 (D) TS
52, (RSl fOferel e (i =i20aa e 2

(A) T=iesife (B) (xI&! C) oG (D) 9o
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52. egfd faferet af< s AR @ ?

(A) FSTRME (B) S (©) TR (D) ST
52. gt fefeim AfR forg s & T © 2

(A) TS (B) TS (C) TR (D) ST
53. Identify the word which cannot be made by using the letters present in LEMONADE.

(A) LEAD (B) MADE (C) DEAF (D) DEAL
53. LEMONADE © 2! 9(IIR8 HRIQACI o P @IRE1 #7051 Befies T |

(A) LEAD (B) MADE (C) DEAF (D) DEAL
53. LEMONADE *It37 S5 Sra <89 6 5107 51 A7 o1 *315 e e |

(A) LEAD (B) MADE (C) DEAF (D) DEAL
53. LEMONADE 274 9/ giEhRsi e el <A1 g/ 2

(A) LEAD (B) MADE (C) DEAF (D) DEAL
53. 39 W I 9g9M it LEMONADE ¥ HIS[g 38R} 1 IUART hitch &l ol ST Tohall € |

(A) LEAD (B) MADE (C) DEAF (D) DEAL
54. What does “get out of hand” mean ?

(A) To walk away (B) To be very slippery

(C) To become uncontrollable (D) To getlost
55. The flag of which country is triangular in shape ?

(A) Brazil (B) Kuala Lumpur (C) Sri Lanka (D) Nepal
55. (LT 0T SR Aol fqgengies 2

(A) aife= (B) FENAT () Herw (D) Tl
55. (I (M0 2TOIFH oNphe fqgeiar 2

(A) aifes (B)  FRGTRTNAF (C) &t (D) il
55. & gIei fRfthaman stranf-eremy weef ?

(A) ST (B) FHeTCTeTHIY (C) Hitcien (D) Ui
55. T 1 1 SieT i SR 2

(A) ISt (B) eI (C) Hicieht (D) =9Il
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56. Who of the following was amongst the first disciples of Srimanta Sankardev ?

(A) Madhabdev (B) Lachit Barphukan
(C) Ananta Kandali (D) Mahendra Narayan
56. MRBIRG (G SR S =R LT FRPTRRS o wifee 2
(A) TR (B) = qapee
(C)  FTT Fwler (D) 2™ IR
56. AR TrEiemE (S &NE *PIMEE AL M RRICE W0k e fege 2
(A) R (B) #Ib® g
(C) TG FWe! (D) 2™ TR
56. RN R W& 4H=1 St Ffafed Seiar ®RE TS 99 161 ?
(A) HYRH (B) olfad SRk
(C) = Hueel (D) #H&= T=A
56. frfafed § § ®F Hiwd e & Tea i § 9 972
(A)  HYeRd (B) olfad sRehd
(C) oa whefd (D) #H&= TR
57. How can you distinguish a Transport vehicle from other vehicles ?
(A) Looking at tyre size (B) By the colour of the vehicle
(C) By vehicle size (D) Registration number plate
57. ~IfRQIeS e QLT (FIAC! F 5T B S AT A9 FE B Tlewia #Aif 2
(A) BRIRS SR (B) SN <=el
Q) aICR =FR (D) 2GR T T
57. ) SNET ACHCF FI (w0 S sifsiaeel ares fofze e Ak 2
(A) I S (7L (B) AICT e @il
(C) MR =R 7=l (D) AGRW 793 T
57. T g Hell MRE A MRERA TeRmE A faammie ?
(A) TERM SRAE! TAH (B) TR e A=A
(C) TR sRemSi (D) Tf=TE TR el
57. U UNEG A6 ol 3T a8+l § hdl 3T & 2
(A) TRR % SATHR hl SEH (B) aEAF{H
(C) dEd % SHR 9 (D) SR §&A =i g1
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' 45 6 7
58. The smallest fraction amongst 5% 7 and P
4 5 6 7
A) % B) o © = D) 3
456 7 I
58. E,g,;?m@ gawnmwm\w g
4 5 6 7
A) % B) o © = D) 3
256 7 Salien] B ¢
58. oy R o G O FESW SR % ¢
4 5 6 7
(A) % B) o © = D) 3
456 7 .
58. g/ g/ ; ST@ g 1 IS gl didlaqgi<] ST -
4 5 6 7
(A) 7 B) o © - D) 3
456 7.
58. g,g ; S:ﬁ'{gﬁl:ﬁl@@?lﬁ-]:f%
4 5 6 7
A) % B) o © - D) 3
59. Identify the item which is not of same type.
(A) Payment (B) Rent (C) Price (D) Bill
59. RICBI Sl oIS T2, (12 2MCs! fore s |
(A) AfSeei (B) wrul (C) T (D) SR
59. P A A 2€A (b AS T |
(A)  sifdesiy (B) wlel (C) T (D) WS
59. TE A TR o |
(A) BTG (B) U (C) &&d (D) fo=
59. 39 37EeH i Ug9M HY S T & YR i & ¢ |
(A) YT (B) femtrn (C) whiHd (D) faat
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60. Which of the following words would come first in an English Dictionary ?

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
60. G TG SfwHiTe FHERS (HFFCH! =% A0 =ifeq 2

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
60. ICHR (I *I6 KCATG SIS LA SIPI 2

(A) Hectometer (B) Decimeter (C) Kilometer (D) Centimeter
60. TR a9 Qe Sufs See fagera famifam T 2

(A) Hectometer (B) Decimeter (C) Kilometer (D) Centimeter
60. Treiferad # & -9 weg AT Tegehiel § Fod Teed AT 2

(A) Hectometer (B) Decimeter (C) Kilometer (D) Centimeter
61. A number when multiplied with 1111 results in 7777. The number is :

(A) 7 (B) 17 <© 70 (D) 77
61. b1 FRAF 1111 (I %<0 FCT Al [T (2R 7777 | AU (=2 ¢

(A) 7 (B) 17 © 70 (D) 77
61. G0 FRACE 1111 AR &l T Feqwe] 7777 | A =7 ¢

(A) 7 (B) 17 © 70 (D) 77
61. HMY ARHME 1111 Kl YIS eAT 7777 STTEl | o TSR A1 2

(A) 7 (B) 17 © 70 (D) 77
61. TS H&A 1111 § 0N &HH R 7777 I Bl & | I G&A T :

(A) 7 (B) 17 <© 70 (D) 77
62. Air: Eagle:: Water : ?

(A) Duck (B) Cuckoo (C) Pigeon (D) Ostrich
62. MY ¢ 3oeT 82 oAl 2 2

(A) =2 (B) e (©) =< (D) =
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62. Y 2 %40 3 T 2 2
(A) 27 (B)  (Ifpe Q) A=l (D) T R
62. AR:ESN::T:?
(A) T (B) <@ @l (C) RA (D) <T@
62. dY: 3 WA 2 ?
(A) =@ (B) A (©) X (D) &
63. The armies of East India Company defeated Siraj U” Daulah at which battle ?
(A) Battle of Buxar (B) Battle of Plassey
(C) Battle of Nalapani (D) Battle of Jhelum
63. (I TE@e 2B T @FINE Gz haeem e »[ifee FRf 2
(A) IEIT (B) ~RIbIN =
(C) TN T& (D) @S I&
63. (I J07 235 2T @ EERIEA Praeerre »[ifere s ¢
(A) I L@ (B) ~RIf= IC=
(C) «=NfE Itm (D) REGE &
63. 3w sfvea sy Afreme faus 3 et 51 SregErE e 2
(A) IR <@ (B) HeMrEf e
(C) FreraTAf et (D) S Sreret
63. 3w e St bt It A fovet SEen # fhw g H e ?
(A) T A TS (B) Il IS
(C) reATaH 1 I5 (D) oo™ # IS
64. Which country is Hollywood in ?
(A) United States of America (B) England
(C) France (D) Japan
64. (I (TS THTTT SRIFS ?
(A) SRS TE1NT (B) el
(C) =T (D) &I
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64. 3IETCT (FH T SRFS ?
(A) W Fe=1g (B) Bemle
(C) T (D) s

64. fgal o« BeUd ?
(A)  AHRERT ST BT (B) ToI~e
(C) hrH (D) S

(A) TIH T R B T
© ¥ (D) SITaH

65. The difference between the smallest of the 4-digit number and the largest of the 3-digit number
is :

(A) 1 (B) 11 (C) 101 (D) 111

65. 4 SRFYE PO TR ST 3 SRFYE (B TR NS A2l 2R ¢
(A) 1 (B) 11 (C) 101 (D) 111

65. IR SIF Furow MR 3 Fo SI0wa Jes MU Ty A1 297 ¢
(A) 1 (B) 11 (C) 101 (D) 111

65. SAMTEE TS HF 4 AT THT ST ST JafRgs <XEA JH 3 FHAAHET 41 STARSHI BRETRET
(A) 1 (B) 11 (C) 101 (D) 111

65. 4 3ol o TaY DI G 3R 3 Hehl I GO TS GEAT F o A SFW T ¢
(A) 1 (B) 11 (C) 101 (D) 111

66. What is the synonym of BRAKE ?
(A) Parking (B) Slow (C) Clutch (D) Gear

67. Which word in the following sentence is an Adverb ?
“The tiger is running faster”.

(A) Tiger (B) The (C) Faster (D) Running
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68. If the number 47329 is doubled, what would be the digit exactly in the middle of the result ?
(A) 6 (B) 7 ©) 4 (D) 5

68. 47329 FRANBIE Fao FRCH FAIGAGE 0F EiNiers 4 S0o! & 29 2
(A) 6 B 7 <€ 4 (D) 5

68. T 47329 s fawd 1 2, OIS TAGER 0F TR 50 F© 2J 2
(A) 6 B) 7 (C) 4 (D) 5

68. SIfS 47329 W THM WIETH], ToRYNE A oAM= o S ?
(A) 6 B) 7 ©) 4 (D) 5

68. Afc W& 47329 ! ST X fean Q, @ aRomg & 3tk <= § A A1 ik rm 2
(A) 6 B 7 © 4 (D) 5

69. The place value of 2 in 4213.6 is :
(A) 213 (B) 2 (C) 200 (D) 20

69. 4213.6 2 FI W ¢
(A) 213 (B) 2 (C) 200 (D) 20

69. 4213.6- (S 2 G FeTIF 257 ¢
(A) 213 (B) 2 (C) 200 (D) 20

69. 4213.6 379 AHE 2 1 e 7  fog -
(A) 213 (B) 2 (C) 200 (D) 20

69. 4213.6H 2 T HH © :
(A) 213 (B) 2 (C) 200 (D) 20

70. Identify the combination similar to :
Tyres : Round : Black
(A) Trees: Green : Tall (B) Windows : Glass : Square
(C) Pipes : Round : Plastic (D) Bricks : Rectangle : Red

70. GIXE ¢ TR 2 Tl - 92 7K A7+ TS (16 T oeie 35 |
(A) Tzl ¢ CTOGHR 5 6 (B) TR ¢ 3lb ¢ of
(C) izt 2 g@fral ¢ AR (D) 20l 2 SIS ¢ T8l
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70. SR TR TG T ¢
BIR! 8 CAllETIRIET & PICel
(A) T 29S¢ T (B) Gl ¢ I ¢ JofiFId
(C) W ¢ (I ¢ 2AfF6F (D) %0 ¢ SITSF ¢ A
70. TR : TER : TEM - amfe T8 oewe) faam -
(A) Tori : Theri : Tish (B) fefa : s : =
(C) w9 : gL : e (D) 39 : 3T : TSl
70. TR : A : BT - S FHAMF SIS hl TE9H |
(A) Ug: & (B) fasfrl : == : TR
(C) IEY : T : A (D) % : 3Hd : o
71. The song “Poka Dhanor Majey Majey” was written by :
(A) Tafazzul Ali (B) Anandiram Barua
(C) Parbati Prasad Barua (D) Rudra Barua
71, “oRFl 4R NS A& - TS Theq NoP ¢
(A) owEgE ife] (B) SIS I=Al
Q) =TS 21w 7=l (D) <@ 3=/
71, “oRPl LT ST A AN e ¢
(A) oFlegs Sl (B) =W e
(C) #IKST 2Phim Il (D) %@ IF
71. ‘U UTR T A AeeEl foRal -
(A) TESA Al (B) AM<IH s%al
(C) i JHIE s%a (D) &g el
71. ‘91 gR 9 @ A fRwer g foran w o ?

(A) TS ST (B) AR wea
(C) TSI TG 63T (D) &= %
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72. The minimum educational qualification required for a bus conductor licence in Assam is

(A) Class VIII Pass (B) HSLC Pass
(C) Class IX Pass (D) Not mandatory
72. ORIV A PG (AARBITF) T ABGR AR AR ARG JeTon #Erlrs ogel (20
(A) 1B T &l (B) =EFe firwig o[ Tl
(C) T ¥ TElef (D) AGONETE 72
72.  SPIC AP 2IRBIETCRR (FEIF) Sieal 21 (FN20™) SIS ARG 7 s #EFsTs [@larel 2
(A) SR T TEI (B) =EFH Mg AT Telef
(C) T (= TEref (D) NTORETF -
72. SIS A9 HUSERR AU fogl JMEm oHiT arsTse Sendrm A7 'for S
(A) gl A A (B) Hfeek 3fyrm
(C) gl T 3= (D) TIMigR 71
72. STHM H 99 Hhedy ARGH & AU sTevasd <Aaq i e 2l
(A) TSl hEl U™ (B) T TH TA U
(C) et e arE (D) Afamd &
73. A man types at the rate of 45 words per minute. How long will he take to type 555 words ?
(A) 12 min 15 sec (B) 12 min 20 sec
(€) 12 min 30 sec (D) 12 min 45 sec

73. @& Wz ARG 45 *[=7 Bigel Fe #CT | 555 B *1 52l I (€T ATAGH (21 A 8
(A) 12 (G 15 Grpe (B) 12 fSIf<G 20 (btpe
(C) 12 WG 30 (brFe (D) 12 WG 45 e

73. O3 Jfe A4S NG 45 =97 5ot @ | 555 *197 5129 F0 Ol T© 73T 9N 2

(A) 12 WG 15 Cee (B) 12 WG 20 Gme
(C) 12 G 30 Cpe (D) 12 NG 45 CPe

73. U™ AEREE WA 45 GcE/ e Tew g el 6H 555 WGt 2y gl fa oF 99 A ?
(A) 12 fafte 15 TH=< (B) 12 fafte 20 Th<
(C) 12 fafte 30 Th< (D) 12 fafte 45 T<

73. U TSH 45 Ieg Ufd fie ot X | 227 a1 ¥ 1 S 555 Ieg 25 A B foha1 Tw @M ?
(A) 12 fHe 15 Gehe (B) 12 fye 20 Gk
(C) 12 A2 30 Wehe (D) 12 fHe 45 Wehe
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74. Who wrote Arthasashtra ?

(A) Brahmagupta (B) Swami Vivekananda

(€) Raghuram Rajan (D) Chanakya
74. S (I ferfafee ¢

(A) =Y (B) =T Rz

(C) <IN e (D) ©lay
74. ST (S fercafecem ¢

(A) =Y (B) =T Rz

(C) TN (D) Bl
74. SAREREN {1 fAAEH= ?

(A) SRR (B) iy fefsierr<

(C) THUH TSI (D) =R
74. AT fored foran ?

(A) S (B) T@mHl ferehr=

(C) THUH TSI (D) =R
75. What was the name of the capital of ancient Kamrupa Kingdom ?

(A) Darranga (B) Pragjyotishpur (C) Garhgaon (D) Itakhuli
75. bW el Aens il i i 2

(A) 7R (B) wsitenifiedss  (C) oiesie (D) I
75. 26l FINERe Acena Al w6 o o

(A) W= (B) aMiterifeasm  (C) sreaife (D) THIYA!
75. TQIH ey TS TSAref-n s 2

(A) T (B) WISHICIRTY (C) T (D) sergat
75. U ShIEEY GUT i TSI ohi 1 A9 o1 2

(A) = (B) AT (C) T (D) =T
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76.

76.

76.

76.

76.

A sequence of numbers is written in such a way that each number is greater than the preceding
number by 3. Starting the sequence from —2, the 10" number in the sequence is :

(A) 23 (B) 25 (C) 28 (D) 30

R Bl T VI Tz TCe ARSI A2 T 579 FRANEIOCT 3 SfF | FAC! -2 (T TS FRCA
1 W AL =R ¢

(A) 23 (B) 25 (C) 28 (D) 30

R GFO T GITSIE @14 2 (@ 2ol il 576 A (507 3 TF | —2 (AT T ©F FAE
b 10 O3 AT =03 ¢

(A) 23 (B) 25 (C) 28 (D) 30

T ST RIfRET SARenfe for Sei <t foama o ARwms st Maf farmreTa omm sHfsmgg
3 X | I — 2 Sit SfsTee, w10 o smfsmmEn -

(A) 23 (B) 25 (C) 28 (D) 30

H&AeA 1 T A 39 YHR faa Sl § o goes 9@ fUsel 9@ 9 3 &1fus 811 sha & —2 9 &
F W, STIHA T 109 HE&A T

(A) 23 (B) 25 (C) 28 (D) 30

77.

77.

77.

77.

77.

Which of the following items is related to works by Sir Isaac Newton ?

(A) Rocket (B) Atom Bomb (C) Semiconductor (D) Automobile

o oo

VRS (FIFCH! B9 SBEIE WS T (70 ToifFw 2
A) IED (B) «G’w @I Q) e (D) S5

—~

TR (PG I ST NG Fesa AN I~iFw ¢
(A) [T (B) ol @™ (C) wEwRAR (D) 5w 9N

TEE 6 3TFEE IR 378k feeas 9H=<l < 2

(A) The (B) TWeH o (C) uff w<eReX (D) 31 'HaEA

frefafed 8 9 FR-9 W AESis e & Hiadl 9 Hefed § 2
(A) Tehe (B) WA =H (C) WHishgax (D) HiHTsTEA
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78. Find the correct sentence :
(A) Please listen to what I am saying.
(B) Please listen what I am saying.
(C) Please listen to what I saying.
(D) Please listen to what I is saying.
79. Which country was Winston Churchill a Prime Minister of ?
(A) United Kingdom (B) Brazil
(C) United States of America (D) Switzerland
79. TEHA bifbel (PR (I KT e
(A) 3=ye ey (B) e
(C) S T&G (D) pEEIRCTe
79. TZTHA SIfbeT (PR (O 2T R 2
(A) F&rey (B) aifem
() wIfF ge=1g (D) EERee
79. TarTea = s geX TerR FHgH ?
(A) FEeE fohen (B) fsiet
(C)  STHIHT ST BT (D) YIEIRIUE
79. Tt =feiet forg <1 o woe et & 2
(A) FEee feomen (B) il
(C) HIF T ST (D) feEewEs
80. Jonki and Panei are characters of a story based on which community ?
(A) Dimasa (B) Idu Misimi (©) Mising (D) Singpho
80. TS IR AR (I Temizs fofe i o<t o5 151 <@ 2
(A) fou (B) g ffbf ©) fifbx (D) foxer
80. TX[F € Al (I TR G fofe a1 @i sicee bfiw

(A) o (B) 3 iy (C) Tk (D) Pe
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80. Wil R N 919 BIRM |'a ' o1y -
(A) feamm (B) 335 fufafy (C) fufg (D) faw’
80. Siishl 3R T ford THE™ W SN Herl o T € ?
(A) femmen (B) 33 fufas (C) fafgm (D) T
81. To drive a Transport vehicle, an applicant must have a Light Motor Vehicle driving licence
atleast for how many years ?
(A) 3 years (B) 1 year (C) 2 years (D) 5 years
81. RIS AITT YRR BB 27T AR SAE@HPISI JeTow (2 I/ A oY A% Gigfer sz 2w
RIRSH
(A) 3= (B) 1= © 2= (D) 53=
81. ~IffAe AT GIEWE T GG SIS A JeTox F© IR 79 2w Bl Seaisig (Gizfes #izem™)
IS T ?
(A) 33 (B) 13= (C) 23= (D) 53=
81. B Hell MR WAl 9 foremal WHTs! o Meref 3 7er MR gfy e o 2
(A) @ER3 (B) #ER1 (C) @R 2 (D) @R 5
81. URag ATE" &1 SRIGT ARHT YT Hi o T ATACH o U & G & foha- Il qeh o gooh Al a8
1 SIEfAT ARAY BT TRy, ?
(A) 399 (B) 17ad (C) 294 (D) 5ad
82. In which country did Mohandas Karamchand Gandhi stay before coming to India ?
(A) South Africa (B) Uganda (C) Egypt (D) Sri Lanka
82. OO IR SR ATE (N2 FIAGIT AT (T (S SIifest 2
(A) wERel wifEl (B) T4l C) few (D) QA=
82. OIFCS SPIF sl (T F61 ali%h | (T (eel fegeiw 2
(A) i el (B) ol (C) T (D) &A=
82. WRAE HAAM T AEIa™ LT T ool SISV SRTHH ?
(A) wren et (B)  FI (C) fa (D)  icishl
82. YRA 3T ¥ TR Hig e hirde Ml fTra S H W w® 97

(A) <feTor STRteRT (B) el ) fm= (D) Hiciet
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83. The number plate of an Electric Vehicle (EV) in India is coloured

(A) White (B) Yellow (C) Green (D) Black
83. CREI® Y ([AYIfeT AR (EV) I 799 To1ad 9 |

(A) &N (B) == Q) g (D) &7
83. ©RIS @Yo A (EV) G T TR 16 28 |

(A) 3T (B) =™ ©) W= (D) T
83. WRAME HifseusTR MRMA (EV) TR Sl el Sierd |

(A) TR TS (B) TIHI TS (C) TeiTE (D) TG e
83. YRd ¥ Taifdeeh amed (EV) &l o) ®I &1 T 7

(A) kg (B) drem © = (D) el
84. A person purchases a defective item for ¥ 900, repairs it for I 100 and sells the item for I 1800. His

84.

84.

84.

84.

percentage of profit is :
(A) 100% (B) 80% (©) 90% (D) 180%

a5 TG 51 GOl AWM T 900 © T I, T 100 © [T GRS I S ANG 7 T 1800 © Riew!
FE| (09T TS *OIRH (FR ¢

(A) 100% (B) 80% (C) 90% (D) 180%

GG e G GiHoo)el &fam1 T 900 BRI @1 T, T 100 BIFIN (NARS I @38 T 1800 i fefemiio
R (3 | OIF SN0 *Tol<H] 297 ¢

(A) 100% (B) 80% (C) 90% (D) 180%

T gEEE 9HY TS S SEedl € 900 T sEAE 2 100 W % 8 1800 U wHfwr 1 faf
WHEAE AR SrE<le See -

(A) 100% (B) 80% (C) 90% (D) 180%

T HAfK T T (defective) T& I T 900 H BT T, T 100 H SHHT THA LT © IR 39 a5 I
%1800 H o= T | TR A W T :

(A) 100% (B) 80% (C) 90% (D) 180%

85.

Name the punctuation mark “:".
(A) Comma (B) Colon (C©) Hyphen (D) Exclamation
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86. What is presently the minimum age to be eligible for voting in the General Elections of India ?

(A) 21 (Twenty one) years (B) 20 (Twenty) years
(C) 18 (Eighteen) years (D) 16 (Sixteen) years
86. SR A FRHbTS STV (@9l 270 IO PeTos| 2 fF 2
(A) 21 (4t I (B) 20 (Rm) <=1
(C) 18(e59) T (D) 16 (&) I=1
86. CRICSH AR FIHGE (Of6 SR @INTOR Tely o3l T TSI F© 2
(A) 21 (o) 7= (B) 20 (%) 7=
(C) 18 (TNoR) I=A (D) 16 (@) IR
86. 3TIfeRETCel WA WieRH forerere ferarel fararerg’ €t i sigTean st -
(A) 21 (39 /) dER (B) 20 (3 f&) MR
(C) 18 (S TrE) =ER (D) 16 (M T") dER
86. WRA % 3T AT H HAQH o foIC I B o foTT oo™ H =[Aan 371 91 § ?
(A) 21 (3FhiE) ad (B) 20 (S9) ad
(C) 18 (319RE) =N (D) 16 (Hie®) a4
87. Which of the following is not mandatory for a commercial vehicle in Assam ?
(A) Vehicle Registration (B) Night Driving permit
(C) Pollution Under Control (D) Fitness Certificate

S N o)

MRS (FIFCE! AT T 2

87. W e AeT T

(A) A= AGHE (B) il oITE1 SaTRIS Syl g
(C) =rEel fzEere 32 (D) ToRIEOR auidomg

87. o (I Sics Aifelfenss NS oay AroiETs 77 2
(A) TR TR (B) TS 7T BN e 7@
(C) =il feiarcel AP ictoia (D) @Isrei 2=isa

87. WIAINTATR TR TR el STHHTe TR TST ?
(A)  TREA 9f~<er e (B) WG A T
(C) TI9HM U™ wfdfthehe (D) fwerw wféftrehe

87. o1& H arfofcae amed & fa frfafea § @ @ sifard =& 22
(A) 9TE TSRl (B) U grsfa wiHe
(C) wguv f==w § g (D) ST Tl THOTIH
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88. In India, a vehicle is driven on the

(A) right side of the road with the driver sitting on the left side of the vehicle
(B) left side of the road with the driver sitting on the right side of the vehicle
(C
(D

) right side of the road with the driver sitting on the right side of the vehicle
)

left side of the road with the driver sitting on the left side of the vehicle

88. OREIF® G JIE |

(A) VR CHFICE HCERT T SIS BTG ATCIT AETIE AR AT |

(B) AT ASTHITH HLETRI 27 S HIoTRG G GHIzwIceT] fE AN |
(C) VR EHFICE SR T W= HIFFSH G GHwITe 3fE A |

(D) B ISTICE HENRI 2 SR HIERFGH G IT AETFIE A2 A |

88. RS G T HIEE! =T |

(A) B CINMCS SN BIeRs 01 AT AW
(B) BRI ANMCS S HTeTs 63 AL BiNcs
(C) VR TFRMCF SR BT I AZA0F SIS

(D) IR AWMC SN BIeTR I0 AT AW

88. WRdwE TH MRl |

(A) I STFTEIY el AR SR MR Safe forw |
B) I ARG Aol STRI Srermeman MR swere fowr |
C) I SARTRIY Wl AR A= MR et fSRw |
(D) TATHI STTFATY STeral STRI W MR STty form |

88. YRd ¥ mfgaAl =eg Sl § |
(A) TEH & TR AR, 3R AT A & 9 IR 931 2 |
(B) USH % 9 AR, 3R ATeieh ae o T8 AR 53T & |
(C) USH & TR 3R, IR =TeTh A & E AR 931 T |
(D) TSH & 9 3R, 3R AR A o o8 3 93T o |
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89. Moreh (Manipur) is a road connection point of India with which country ?

(A) Thailand (B) Nepal (C©) Myanmar (D) Bhutan
89. (IR (W7F) ST (0O (Il (7T Fe1oI2 I T4 2

(A) e (B) G (C) ST (D) g0
89. CNEZ (WfA9fR) (F (TR A SRS G TGS FRAAPR! B 2

(A) 2l (B) (AW (C) R (D) OO
89. 'Y (WMTYR) 31 WRA AR &7l eI e Fommenn o<y ?

(A) =TS (B) HureA (C) TR (D) M
89. TiE (AfTR) YRa #1 fFT T & WY e Tk foig T2

(A) oEede (B) e (C) wHR (D) M
90. What does ‘fair’ in the sentence “They played a fair match” mean ?

(A) Very long (B) Within the rules

(C) Breaking many rules (D) All players are seniors
91. When are the elections for Lok Sabha generally held ?

(A) Every five (5) years (B) Every four (4) years

(C) Every six (6) years (D) Every ten (10) years
91. FRETSR b AReTs (@fox SHFe =7 2

(A)  elfS #if5 (5) T2 T WA (B) @S BIfF (4) 9= 3= TS

(©) dfo = (6) T2 A AR (D) &if® W (10) T2 (3
91. EIRSTSR b Aers & Tam SHfe 27 2

(A) @fe #If5 (5) T=8 (B) afe b (4) IR

(©) =fs = (6) = (D) e v (10) 728
91. g ke foemEeE 'formm

(A) &R 54 3T e S (B) MR 4 4 37 & SR

(C) ¥HR 614 3 = S (D) ¥MR 10 1 37 3@ S
91. I AR R AHHNT & T Fe 8 & ?

(A) WU (5) 9 H (B) T TR (4) Wit H

(C) BUDE (6) W H (D) ¥ TH (10) ¥reA H
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92. Rakesh is taller than Subodh. Their friend Atanu is the only one to be in the basketball team that
requires player’s height to be above six feet. According to height, who is in the middle ?
(A) Subodh (B) Atanu (C) Rakesh (D) Cannot be determined
92. I RIMSCF 8¢ | (OITHAITA Ig SO(2 IFG [ ACHLITH WoTe SBY & (el IS IR TS
(XEFRT THO! EH SfEF 27 IfoI | Toool SRR S BT (Fie S ?
(A) @I (B) ey (C) (D) ffy sfa @Il
92. T IR (5T TH | O g, o2 GF ICFLIE WCa ARPR (1907 T Gy (ARSI Soool R
FOoA (@ 200 2T | Toho! SERRIEAT (F N FE SR ?
(A) @I (B) ey (C) A (D) fsfize <=1 ar =
92. THIM YouTgs SHfeH | TR il sTagea’ Siehe 9 ST 9’ STeme JHHET 9’ ST 91Er™
6 i S ST | Siteng 7Y, IR oRE 2
(A) g™ (B) &g (©) T (D) FErn
92. KT, GAIH Y T T | ST QI 3T aeheairat 2m | et 8 % foarg e e 8 foaeh fag faere
&I 9T BT HIe H HW T TR ¢ | 59T oh TR He4 § i 7 2
(A) gaH (B) g (C) T (D) T &l fehan ST Fehell
93.  Which of the following is not a region of Assam ?
(A) Brahmaputra valley (B) Karbi plateau
(C) Barak valley (D) Deccan plateau
93. RGNS (G SPRE G e T2 2
(A) TG T (B) I Mevely
(C) T[T Tl (D) wifsFerey eTg ™
93. IO (AT SPICR (b S=eaT TH 2
(A) TG o (B) I Mevely
(C) A ool (D) wifEFelCoR SMeTgf
93. TEMEM o1 SAHHH S TST 2
(A) SFRIEA B (B) Hifel S
(C) ok BRA (D) SR ST
93. freAfafad § ¥ HF-91 ST &1 &7 & § 2
(A) SRS =M (B) el WOR
(C) ok =Mt (D) SR 1 YEN
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94. The average of first ten consecutive natural numbers is :
(A) 5 (B) 6 (C) 5.5 (D) 6.5
94. AL TZD| FHIE FSIRE AU 9 2
(A) 5 (B) 6 (C) 5.5 (D) 6.5
94. AN I R FIRE AL T 21 2
(A) 5 (B) 6 (C) 5.5 (D) 6.5
94. wiftame S famifas w9 15 fafeim smafsmrert wspemn
(A) 5 (B) 6 (C) 5.5 (D) 6.5
94. YUH U SHANTT WIhideh T&Asii &1 319 ¢ :
(A) 5 (B) 6 (C) 5.5 (D) 6.5
95. By what factor a decimal number is to be divided so that the decimal point shifts by two digits to
the left ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
95. @I WIfNF AR W Vo1 Y01 ST S FIFACA FITRO FRACH 270 FRK A9 ARLICH! ¢
(A) 0.1 (B) 10 (C) 100 (D) 1000
95. &30 Wi R wIfsE RS 12 B e BHISie e [FeR 7l 279 F09 T 2
(A) 0.1 (B) 10 (C) 100 (D) 1000
95. Y W TSN AIsil TeeT gt fagan sAmfafy 9= 3 s gragies ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
95. forelt vmeTa WE o1 ford R § fafa foran sme aifer <emera foig < sie et 37R TemHiaia &1 S ?

(A) 0.1 (B) 10 (C) 100 (D) 1000
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96. What type of horn is permitted in a vehicle in India ?

(A) Multitoned horn (B) Electric horn  (C) Air horn (D) Any type of horn
96. TIRGING G JTTS (FRLI Frel SRycfirs 2

(A) ITIRI el (B) @gfes Mgl (C) Iy gl (D) T el R el
96. SRS I A T HI R el (=) Sifre 2

(A) IDIER el (B) gles figl (C) Y el (D) @ I G&Cel el
96. HRAME 1 AW BHE! M STeRArEf TR € ?

(A) TE-TEiTEi (B) HifswemREM  (C) OR-TMiEH (D) SEfE=mgH
96. uRd H fordt amed H foFg YR & &4 ot oAl €2

(A) TEREEE  (B) solfags e (C) TR (D) Terelt oft Wb % &
97. Which of the following is the highest mountain peak of India ?

(A) Everest (B) Annapurna (C) Nanda Devi (D) Kanchenjunga
97. FRERS @G oo Thow sfoqzel ?

(A) 9SIED (B) sl (C) TR (D) Fleeeeial
97. IR (PN SRCA AR 2o 2

(A) @O (B) Smmsiefi (C) «™witad! (D) JlgETEsqr
97.  yRaf Sife g fofafe -

(A) TIRE (B)  F=rgu (C) =1 EEEEEE]
97. frafafed # & HF- IRG F Tol Sl v =l 82

(A) TEE (B) ST=Tqon (C) a1t (D) e
98. Name the first Swargadeo of Assam.

(A) Suhungmung (B) Suhenpha (C) Sutupha (D) Sukapha
98. SPTE LT FHMT SRIF I AN TS 755 |

(A) PR (B) pr=re (©) o= (D) g
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98. RN AL Fo (e~ TN TS e |

(A) TR (B) Ic=T¥ ©) 1o (D) I
98. 3T HHRM ffatem wriesar 9w 2

(A) & (B) FeTH © TIA (D) FHTH
98. 3T % WAYLH WG 1 A oAl |

(A) e (B) FeTH © TIA (D) FFH
99. Maximum speed limit for Motor cycles on Municipal Roads in Assam :

(A) 80 km/hour (B) 70 km/hour (€©) 60 km/hour (D) 50 km/hour
99. SIS (T TN AL A6F HIEEFeT M0 Gobw 7/ Il (202 ¢

(A) 80 RfL/a%l  (B) 70 RRL/AGI (C) 60 EHL/RHI (D) 50 RRAL/2D
99. SPICH (TR TR ABR AT AZCHCET A A=l ¢

(A) 80 RfL/a%  (B) 70 Bf/AGI (C) 60 FHL/=H (D) 50 [efN /2D
99.  STTEHS FNMHTEAIR TATHRIE HeR Hgehel(- L@ sife-en Tt femm -

(A) 80 fefa/s=1 (B) 70 fwmfa/s=1 (C) 60 fwfA/5=1 (D) 50 fo.fA. /5=
99. THH H TRUICIeh Fghi W HiX Higfhel & fore safersran ifa gin &

(A) 80 TerHi/sa (B) 70 Terwi/sian (C) 60 Teri/sa (D) 50 ferHi/sian
100. What does “apple of one’s eye” mean ?

(A) Target for practice (B) Special favourite, beloved person or thing

(C) Most hated person (D) A sincere and loyal person
101. If 7 mangoes cost X 91, then the cost of 3 mangoes is :

(A) T 28 (B) T35 (C) T 37 (D) T 39
101. T 7 51 SR 7 X 91 =, (9CE 3 Bl NS 7 ¢

(A) T 28 (B) I35 (C) 37 (D) %39
101. MW 7 5 =i 1w % 91 =8 9 3 T e 7l =03 ¢

(A) %28 (B) %35 (C) %37 (D) %39
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101. T2 7 TSI 99T T 91 =T, T8 3 ATSSIT oI91 o ?
(A) T 28 (B) 35 (C) %37 (D) 39

101. afe 7 M it HHAT 91 T, dl 3 3THI i HIAd ©
(A) 28 (B) %35 (C) %37 (D) %39

102. Which of the following states does not share borders with Assam ?
(A) Nagaland (B) Bihar (C) Mizoram (D) Tripura

102. WRERS (@2 Ie02 ST TS i 7 ?
(A) FoNTFS (B) R== (C) Tt (D) fas

102. NIC64 AT [0y (FAD SRR TS| T 2
(A) isTeTie (B) f= Q) FsRN (D) fas

102. TREIM F& TSI SHHESI (AT TAATSHT ?
(A) TTe-E (B) forr (€) fasr'mm (D) Frm

102. fr=fafEd § @ HF-91 ToF 3199 & 91 97 912 Tt hidl § ?
(A) HARTRE (B) feR (C) fosim (D) frgu

103. Which of the following set is incorrectly matched ?
(A) M:13 (B) S:20 <G W:23 (D) K:11

103. WRGRS &R (N6 9w (E Iferel Y&l =g ?
(A) M:13 (B) S:20 (C) W:23 (D) K:11

103. T (PN WEAb TeTOIE (! SR 2
(A) M:13 (B) S:20 (C) W:23 (D) K:11

103. TR SRIE AR fogT -
(A) M:13 (B) S:20 (C) W:23 (D) K:11

103. frefafed § @ wF-a1 I 7o gaferd § 2
(A) M:13 (B) S:20 (C) W:23 (D) K:11
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104. Which of the following is the Article in “Our instructor asked us to push the car” ?
(A) The (B) Instructor (C) Push (D) Asked

105. Which word would appear at the last in a standard English dictionary ?
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

105. B! WS 229G fSLITS (FITCH! %19 QI (<o AfF 2
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

105. (I =16 G55 vl 32afS SISt G (*IT AR 2
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

105. A 71 3 i fogsa 96 Hicien A= s ?

(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH
105. Mk ST IR H, ThIT-91 e T 37d | ST ?
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

106. Which of the following scale is used to measure earthquakes ?

(A) Richter Scale (B) Enhanced Fuzita Scale
(C) Volumetric Scale (D) Reaumer Scale
106. RIS (@G (Rl SRF=IT 2iken gk I 7219 31 22 2
(A) FBR oz (B) <& Ffem! xa
(C) SRTSElT Fa (D) (SIS C=eT

106. SRR 2If9 FHCO Wb (I (31 789 T 2R 2

(A) ROR CFe (B) «EIITC Flerel (el
(C) SREEIEF 7 (D) RoE ==

106. TR o Thersi siiHEAEE! 3l ?
(A) RER wha (B) IR Gl &hal
(C) TS Gl Thel (D) TR @«

106. 51 A & fau frafafaa § § fa Sha o1 39ar e S 8 2
(A) R @rd (B) 3=1d Gifetal ¥l
(C) difcrsHfesh whal (D) TR &k
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107.

Mark the correctly spelt word :
(A) Essantial (B) Essentsial (C) Essencial (D) Essential

108.

108.

108.

108.

108.

Who was the commander of Mughal army that was defeated by Lachit Barphukan at
Saraighat ?

(A) Man Singh (B) Vikram Singh (C) Vijay Singh (D) Ram Singh

1209 JFo ADS TN 2o A_Iere @RI (ol G ERiofs (@ Sl 2
(A) TEPR (B) @ e (C) Few i (D) = B

*JIZII6 DS IWFFER FICZ 2GS (WEeT FRRIETR Gsifs & fegew 2
(A) W Big (B) &t (C) Rem g (D) ™ P

TUEHE Mad sSEehTsli ol ST Toel |I-Y STsi §If-3f e R 74 ?
(A) wHfH (B) fosre 6 (C) fosa 8 (D) T H

IRTEENE H Afed SR §RI 9IS i S 1 SATafd hid o ?
(A) ¥F fHe (B) fasrn Tz (C) fou= fog (D) M fog

109.

109.

109.

109.

109.

Find the value of 18—[6—(4+2)] —5.
(A) 9 (B) 16 (C) 13 (D) 11

18—[6—(4+2)]—5F T ¢
(A) 9 (B) 16 ) 13 (D) 11

18—[6— (4+2)] -5 @7 W= (7 74|
(A) 9 (B) 16 Q) 13 (D) 11

18—[6—(4+2)] -5 T 71 fag :
(A) 9 (B) 16 (C) 13 (D) 11

18— [6— (4 +2)] —5 1 HH I i |
(A) 9 (B) 16 Q) 13 (D) 11
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110. The HCF of 12, 24 and 30 is :
(A) 2 (B) 3 <© 6

110. 12, 24 % 30 T 9B (22 ¢
(A) 2 (B) 3 Q) 6

110. 12, 24 €<% 30 G IS 25 8
(A) 2 (B) 3 © o

110. 12,24 3R 30 7 .3, foga -
(A) 2 (B) 3 Q) 6

110. 12,24 3TR 30 1 HEqH THYOAH © :
(A) 2 (B) 3 <© 6

12

12

12

12

12

111. Who presents the Union Budget of India ?
(A) The Finance Minister (B) The Prime Minister
(C) The Home Minister (D) The President of India

111. OIS (KT A6 (DI TR T 2

(A) e (B) qewE

(©) o=al (D) ©Res AZAfS
111. (3 SRCSA (X T ST (IS0 ) AR FE 2

(A) Few@ (B) R

(C) =G wa@l (D) SRR AGARS
111. YR S8 TeresTE! R HrEmE! ?

(A) TR FAfY (B)  TIETE HAfY

(C) &R HAfY (D) 9RAM TRRAR

111. YR B HET doie DA T Hdl § ?
(A) o w30t (B) UM HAl
(C) TRHI (D) ¥RA % TAfd
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112.

112.

112.

112.

112.

Which of the following is an output device ?
(A) Keyboard (B) Speaker (C) Mouse (D) Microphone

TS 1721 (NG «Bl SNes[ feigy ?
A) FI3E (B) TR (C) Wity (D) WREFTH

—~

T (0 G SAS57[G TG 2

(A) FES (B) =i (C) weR (D) SECFCFN

TR e dT HITH HFH 3] (A=Y feusd) ?
A) f&aE (B) T (C) W= (D) HIEH &’

frafafad § @ FF-91 T eeye fearsy €2
(A) wErE (B) &Ry (C) W= (D) HTESHIHH

113.

113.

113.

113.

113.

First serialized on social media and then published as a book, Life of a driver : Cabin’or Ipare is
written by :

(A) Pratibhu Dutta (B) Rupam Dutta (C) Debabrata Das (D) Ramanuj Goswami
YL ANEF NagTe MRRIEFSIE, Pl ol SiFiE eFif¥e @Rl @12 o) 9 T2 ¢ (k79 29T
fesloie foral feed ¢

(A) dfcg we (B) FolN7E Q) RS (D) IS (ol

AT IS M (12 BT STl @3 Sroe o 92 2T aifite 2631 /2% 9 @ B & (R
Fo11z3T ToTeaTe ¢

(A) dfcg we (B) TG Q) RS (D) IS Cafigrsn

frrforama difgde fafearame wik wfd o faft s fasmaftt @@t foga smm fosie aew 7% T s2er -
a7 ¢ FTR @t | faem -

(A) iy T (B) ¥UH T (C) <oe T (D)  THTS Tt

Teol Qe Hifean | wueg, 3R R U J&is & €9 § YHi¥, 7% 7% T STEaR ¢ Hfeaid 3R fHash
g forett M § 2

(A) iy T (B) 99 T4 (C) <o T (D) IS Tt
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114.

114.

114.

114.

114.

Pongal is a winter folk festival primarily of which State ?
(A) Tamil Nadu (B) Bihar
(C) Madhya Pradesh (D) Punjab

(FNIREIE LT3 (Fie ST TSI (FIF TR 2

A) wifiEg (B) ==
(©) T D) g

S D N

(AR TETO (I TSI I ATSFE (5N G 2

(A) wifiEmg (B) ==
(C) wgHm= (D) “figla

I I TSI TSR el Hial ?
(A) dIE g (B) TR
(C) ¥= YW (D) W~

il JEd: fhe T3 1 SiaeRlel= dieh @BR © 2

(A) dfEerTg (B) fa=r

(C) =& I (D) U

115.

115.

115.

115.

115.

If 12 mangoes cost I 300 and 15 apples cost X 450, then the total cost of 4 mangoes and 3 apples
is :

(A) T 290 (B) 109 (C) %190 (D) ¥ 209

I 12 B IR W T 300 S 15 B SC2EE 7N T 450 T, (S0 4 B SN W< 3 B Weofeid T2 I 2 2416 ¢
(A) % 290 (B) %109 (C) %190 (D) % 209

It 12 6 S wist 300 @32 15 T ol wiw T 450 23, O 4 5 =i @32 3 5 Siteiea (it wiw 27 ¢
(A) T 290 (B) < 109 (C) %190 (D) ¥ 209

S om 12 eTgSH S8 T 300 TR A1 15 ST SHA1Z 450 S, STecT 91 4 A1ESl TR 91 3 3Tef

ST ST S -
(A) T 290 (B) ¥ 109 (C) T 190 (D) T 209

Ffg 12 AT T FHEd T 300 3R 15 el St HTd T 450 B, 1 4 A 3R 3 Fall ST FoT a7 ®
(A) 290 (B) 109 (C) T 190 (D) ¥ 209
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116. The 2020 Summer Olympic Games was held in which country ?
(A) South Korea (B) Japan (C) China (D) Singapore

116. (P (TS 2020 TTERFETI AT (245 s Cafeet ?
(A) wfFe ifam (B) Sl (C) oW (D) Tsis

116. 2020 ST ST T el @M e Scifers zafee 2
(A)  wfEwe iR (B) @il (C) ©F (D) PErsE

o~

116. 2020 TTel| LR 3tferfiaeh I I81 ST ?

(A) @Il & (B) SIMUH (C) =M (D) fHmgR

116. 2020 TSHeRTEA s T fwd <91 § STEifed foe T3 2
(A) <o wifn (B) SMUH (C) =M (D) famR

117. The count of prime numbers between 1 and 20 is :

(A) 7 (B) 9 ) 8 (D) 10

117. 13 %91 20 (51 GRS AR JJ 91Tl 2
(A) 7 (B) 9 ) 8 (D) 10

117. 1 (U0 20 GF 4 GeT AAF Wie o7 ¢
(A) 7 (B) 9 (C) 8 (D) 10

117. 1 STIfIzOﬁ USNE! fIET d‘l"lrvl‘-ll"‘ll qqay ?
(A) 7 (B) 9 C) 8 (D) 10

117. 1920 & = 79T el &t i © -
(A) 7 (B) 9 ) 8 (D) 10

118. What is a collective noun for dancers ?

(A) Troupe (B) Gang (C) Panel (D) Board
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119. The factor by which a decimal number is to be multiplied to shift the decimal point by three digits
to the right is :

(A) 10 (B) 100 (C) 1,000 (D) 10,000

119. (@I @F WIfNF 7T WIEE TYER o0 = EIFIE IERe IR AR AR 5760 FRIe0

ORFO] TR 3
(A) 10 (B) 100 (C) 1,000 (D) 10,000

119. (@ QTR AR G0 WIEF TS @ I wIE [T B o oF TR e 23 @i
EGI
(A) 10 (B) 100 (C) 1,000 (D) 10,000

119. HHY <A AATHARG! o8 TSRS HSTsiee SeITHeh faeisT STRTETfY Jem |HSHT SR 2
(A) 10 (B) 100 (C) 1,000 (D) 10,000

119. o€ GEN 98 U T & i 0N ek Sumerd foig o1 i 3iehi 9 T 3IR Triaia fohan S &, ®
(A) 10 (B) 100 (C) 1,000 (D) 10,000

120. The new name for Twitter is :
(A) AXE (B) XX (©) EAX (D) X

120. GEORE e =1 2
(A) AXE (B) XX (C) EAX (D) X

120. GEDICHR Toel 1 25 2
(A) AXE (B) XX (C) EAX (D) X

120. 3R TMEH T |1 ?
(A) AXE (B) XX (C) EAX (D) X

120. feaeX 1 T 9m ¥ :
(A) AXE (B) XX (C) EAX (D) X

121. As on 1%t of January, 2024, who is the Speaker of Assam Legislative Assembly ?
(A) Hitendra Nath Goswami (B) Numal Momin
(C) Biswajit Daimary (D) Rupsing Teron

121. 1 & SERSI, 2024 ACATE SO [AWPTSR S (F 2
(A) Terom T oFET (B) TG (IfSw
(C) Fmfers Tt (D) =wifb2 (e
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121.

121.

121.

1 1 ST, 2024 ACCE SPT RAPTSR SF (F 2

(A) Terom T oFET (B) TS S

(C) Trfers i (D) FAPR (G

2024 HEATAM 1 AR Qifafesre $TEm SRS SYA Fiufifen 9r?
(A)  Tedwe T (B) IAa AfHEA

(C) fomafsm <ard (D) ¥ufd ™

1 SHaRT, 2024 T 379 I8 T91 3 2727981 i € 2

(A)  Tedgary et (B) TH HIfHA

(C) faversia <A (D) ®ufET A

122.

122.

122.

122.

122.

1 1 1
The value of the expression | 1 ~ 5 1- 3 1- n is :

o W

—~
>
N
o I
—~
=
| =
—~~
N
N
W | =

—_~
>
N
o I
—_~
oz}
N
| =
—_~
N
A
W | =

—_~
>
N
|
—_~
s}
N
B | =
—_~
N
A
W | =
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123. Which of the following punctuation mark is missing in the sentence ?

Rakesh suddenly said, Last night I heard a fox howling.

A {1} B {.} © "7} D) {!}
124. 121 + /81 + /25 is equal to :

(A) 121 (B) 81 (C) 25 (D) 36
124. /121 + /81 + /25 977 3

(A) 121 (B) 81 (C) 25 (D) 36
124. 121 + /81 + /25 &= 7T ¢

(A) 121 (B) 81 (C) 25 (D) 36
124. 121 + /81 + /25 ST T

(A) 121 (B) 81 (C) 25 (D) 36
124. 121 + /81 + 25 THAA T :

(A) 121 (B) 81 (C) 25 (D) 36
125. Fill in the blank : Pradhan is a driver.

(A) Good (B) Better (C) Expert (D) Best
126. 2% of 3% of 5000 is :

(A) 5 B) 3 © 2 (D) 6
126. 5000 9 3% 9 2% (AR ¢

(A) 5 B) 3 © 2 (D) 6
126. 5000 @< 3% 9 2% == 8

(A) 5 B) 3 © 2 (D) 6
126. 5000 71 3% T 2% 31 =@ ?

(A) 5 B) 3 © 2 (D) 6
126. 5000 % 3% H ¥ 2% ¥ :

(A) 5 (B) 3 ©) 2 (D) 6
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127.

127.

127.

127.

127.

In which of the following, cash amount can be withdrawn ?

(A) ATM (B) NEFT (C) UPI

s @GR #[ T 49 T SR e
(A)  @fbas (B) @29 (C) TTMeIE

JIOF (PIGCS 9% BIFl COTeTl T 2

(A)  «fbaw (B) «=zawlH (C) T

TIE T B MR JafTEr fog g ?
(A) Tium (B) TTUR (C) ssUIeTs

o~

Tohe oY fefafea § @ fve W e S gt & 2

(A) A (B) THRUH (C) freme

IFSC

BGFRH

BTG

128.

128.

128.

What is generally considered as proof of casting vote ?

(A) Tick mark against name on Electoral Rolls (Voters List)
(B) Mark of indelible ink on finger nail (or other body position)
(C

(D

) Possession of Voter’s slip
)

Permission to enter voting booth

(PG AYRATS SOV 2ie Z61EF 9o T = 2

(A) T Sifei (bR Sifes) © AR [Kisiics &t B
(B) Mgl 7% (A1« =7 FiTo) W3 (@R[l fHaigE o
(C) COIbF ol wi5re 2l

(D) (S (TS U T®

e (eib e &Nl e @b Keafoe = ¢

(A) e oifeer (coibr wifere) Tt [eidics 5 oz
(B) NGCER 0 (A =N S ZIC) S 17 iferat oz

(C) ceibicR &9 ez A1
(

D) (Olb 9% (X ARCHR SO
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128.

128.

ﬂT@ H{IH"I@IIEI ferarrg’ '6I"H¢IF'I TRITHTE HHAE ST 2

A) foera sk e or =

B) SR (A HRMM T ML) gEMNEH @ifaf TtEH
C) fogmra o oren g drlieTe oH™

D) 9 SR QTS BleH] HIF

~—"

(
(
(
(

8 &1 AR W Sie STer 1 FHIOT W S § 2

A) ZARRA T (HaQE ) H 919 & A fooh o1 fm o
3Tl o A (3 IR F &7 W) W e @Rl w1
C) TR Tl &l B

D) WdQH g H WorRl i SATAM

B

~

(
(
(
(

129.

129.

129.

129.

129.

Which of the following was not a ruling dynasty of ancient Assam ?

(A) Maurya (B) Varman (C) Pala (D) Koch

o1 T72a (FICG! a9« 2lb TSP =7 3¢l Tifeet 2

Z

(A) o (B) (C) =& (D) &b

0y TraReslrm @G 2SI S =« arsae e = 2
(A) G (B) (C) =& (D) 36

TR B F8 TSRl Tiel e STEHE! T e ?
(A) ¥ (B) = (C) e (D) ¥

frafafad 3 9 -1 Y9 379 &1 IS TSa 3 T8 o ?
(A) e (B) A (C) T (D)

130.

Identify the Article in : The man was walking fast.
(A) man (B) walking (C) fast (D) the

131.

Which Pronoun can be used to refer to your friends running at a distance ?

(A) We (B) It (C) That (D) They
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132. The compensation for ‘Hit and Run” Motor Accident case resulting in death is
(A) Rupees One Lakh

B) Rupees Two Lakhs

Rupees Two Lakh Fifty Thousand

Rupees Fifty Thousand

132. W53 CIF @i I f25 e I si2l oIS Joraiae FRee FHiovFeiq @i targ
(A) G =Y Bl
(B) W2 &Y 5
(C) W2 2l FeT Gl
(D) =l & 5

132. SGR9ICT Bl 7ATw 25 @e A 512 TR T TP Tl Fos[eR i 2o |
(A) 3T BRAl
(B) WBETH Gl
(C) VR T s/6M F& GIFl
(D) A% eI GiF

132. ' Iimem @R TR (fee e M) Her MR SrerEre e geat S8 e 7wt aeema weferan

132. ‘fee Ue W' WX el umet H g & faw &t S areft gatarst st i § |
A) TH d@ T
< e T

(

(B

(C) < A T TR TI3
(

~—"

D) UM SN T
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133. Which of the following should not be in the same group ?
(A) Paper (B) Eraser (C) Pen (D) Textbook

133. RRERS (FFGH G5! AN LHO! SGHe ?
(A) ol (B) = (C) <& (D) i

133. WA (FHG G2 (MBI Al TH® 77 2
(A) b= (B) IRRTH (C) wom (D) =ii=ffa

133. 9 HEYA YU AMl ATST ?
(A) TER (B) @M (C) Y& (D) fosa

133. ffafEd # 9 SH-91 T & 99 T &l a1 =6 ?
(A) TS (B) g (©) A (D) HISITER

134. What would be placed to continue the sequence 4, 6, 8, 12, 14, 18, *, *, 30 ?
(A) 20, 22 (B) 20, 24 (©) 20, 26 (D) 20, 28

134. 4, 6, 8,12, 14, 18, *, *, 30 *<eTH! SRPRS IR (Bl AL I2 eNfa 2
(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28

134. 4,6, 8,12, 14, 18, *, *, 30 T GIfeTCa ASTR Ty F1 A THS 2
(A) 20,22 (B) 20, 24 (C) 20,26 (D) 20, 28

134. WIRARE! AN 377s QAT B 2
4,6,8,12, 14,18, *, *, 30
(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28

134. 3TIHU 4, 6, 8,12, 14, 18, *, *, 30 Tl IR W& & foTw 1 T@n ST =1fey ?
(A) 20, 22 (B) 20, 24 (C) 20,26 (D) 20, 28

135. What is the Collective noun for bananas ?

(A) bunch (B) pack (€) bouquet (D) bowl
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136. Who found the sea route to India from Europe ?

(A) Christopher Columbus (B) Marco Polo

(C) Vasco da Gama (D) James Cook
136. RU(AI%S 21 ©ICe] AR 21¥C! (et ol Sferriz fee 2

(A) F2TR FerER (B) SIF sieT

(©) wrF T am (D) (TRTE
136. (3 2SR (ATF SRC SR FAJ@AL Y0 (IARER 2

(A)  fFEoER FerEm (B) SITH (olltaT

(C) oICHl ml A (D) (PR
136. IS TRATGAT Aol AR R E Ural ?

(A) fFE'®R Haamd (B) ' U’

(C) &R’ g1 THl (D) ¥ FH
136. I § ARG 3T I GHg1 AN fohd @i ?

(A) TR g (B) TR Ural

(C) are=nl € T (D) ¥ F&
137. Who was the commander of Koch King Naranarayan’s army ?

(A) Raghabendra (B) Chakradhwaj (C) Tingrai (D) Chilarai
137. (PTG AR GRRIRAR GRS (@i wifes 2

(A) IATEH (B) BTFES ) Tz (D) foerram
137. (F (D el SRS (.H"lkﬂl?{'?\lﬂ i %Z:G_“I;l ?

(A) FEH (B) bERE ) fo=iz (D) foetim
137. = TSI AAREA FE TR HR 2

(A) TS (B) kA ) fimw (D) foerm@
137. i< TSI TR S ST o HAGfT i & ?

(A) TS (B) =hEAS (C) TimE (D) ToemmE

138.

What is the opposite of BEAUTIFUL ?
(A) Dirty (B) Unruly (C) Handsome (D) Ugly
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139. When TANK is coded as KNAT, then what would be the fifth letter if PROCESS is coded in the
same way ?
(A) C (B) E © O (D) R

139. I TANK & KNAT (@ F'C 341 2, (ST 7 F'TS PROCESS F #fRITs1 3717 #1%6% (o1 5 29
(A) C (B) E © O (D) R

139. I TANK @5 FcFoferfs KNAT 2, 9td PROCESS (F G92@I(R FCFOAH00 fo14te] Sige #iges srwefb
FEA ?
(A) C (B) E © O (D) R

139. € TANK @& KNAT %€ WAl 3Tecll PROCESS Wl T8 8 Wiemyset faf afyr giwiet o1 s 2
(A) C (B) E © O (D) R

139. & TANK &I KNAT &% ®9 § shifeqd fwan Smar ®, @ PROCESS @1 39 YR hifed fhy SH W, ST
TieTel SF&T A B 2
(A) C (B) E © O (D) R

140. Which word is the Synonym of STRANGE ?
(A) Abnormal (B) Complete (C) Strong (D) Perfect

141. A piece of land surrounded by water on three sides is called :
(A) Peninsula (B) Island (C) Isthmus (D) Atoll

141. ¢ gR&F fof e AN SRfT Qe o F @il ¢
(A) Tolglel (B) 1lsl Q) @ (D) e[RRI

141. o e &1 2l ([P 9 Qe Bl 0@ ¢
(A) Togle (B) w7l Q) @Es (D) eRETaIs

141. FRAMY TS SETH TEH TE TS -
() fewi (B) feu (C) wEE (D) Ferefey e

141. &9 3R § a1 & TRy gom 9 1 Zhe1 Feand & ¢

(A) TG (B) & (C) G ygfh (D) T
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142. Who amongst the following led the 1857 rebellion against East India Company ?
(A) Rani Ahilya Bai (B) Rani Laxmi Bai
(C) Chand Bibi (D) Rezia Sultana

142. 3% 243 @R 0w 1857 b1 (@RI Rales WEiilde @F s_FE @y Uiee 2
(A) I =fze e (B) ST == Q%
(C) v R (D) & fem pereia

142. 0% TEferm S & 296 2eq @riiN [iFra 1857 AeR R @Tog feafeee 2
(A) T = Qe (B) IS o1 Al
(C) vwmRR (D) el FeToia

142. 3% 3fvee HHrIfa s 1857 7 AHeErARE! 9R) MM ?
(A) T T8 W18 (B) I et @
(C) =< fafa (D) XS gear

142. frfafed § @ feaa < e Hut & faems 1857 & fage &1 Agc fhan ?
(A) T Stfge s (B) Tt wawh g
(C) =ig sl (D) S gerar

143. Lohri and Baisakhi are commonly celebrated in which state ?

(A) West Bengal

(B) Punjab
(C) Maharashtra
(D) Chhattisgarh

143. ToNRS] OF (@91 ET08 (L AT oifeT 391 2 2
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143. o12R 8 @I GRS ETo (N A0Sy SvalfHe =7 2
(A)  IfoRE

(B) g

(©) w=2HIg

(D) ey

143. WY 3T JUREE! 969 TRSISTE W S 2
A)  IFE ST

(
(
(€) weNs
(

143. Wl IR SHrEt oW IR W fRg T | 7 ST arel @iER § 2
A) U= &

B) U™

C) HeRTE

(
(
(
(D) BETg

144. Which of the following places has the largest cricket stadium ?
(A) Dharamshala (B) Kolkata (C) Motera (D) Hyderabad

S N ey

SRS (FAEG! ZTe I2e [FF0 (FCANE! =g 2
(A) 4 (B) il (C) T (D) JERM

144.

144. NIOF (I SIFANT TG IC (G0 (BTTN =Nieg 2
(A)  gPereT (B) I=rel (C) CCERl (D) @M

144. TEMEM d¢ SREATEE <G fohee wfeay g2
(A)  ETHT (B)  SheTehTdl (C) # (D) BHESEIE

o o

144. Tr=fafea § 9 ffg oM R wo@ 991 Thohe Rfeam §2

(A) eI (B)  hIcTehId (C) dHre (D) TEE
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145.

145.

145.

145.

145.

The numbers that cannot be expressed in the form of fractions are called :
(A) Whole numbers (B) Recurring numbers

(C) Prime numbers (D) Irrational numbers

ST FAE 2P FRA TR AR (@ 2 ¢

(A) sl (B)  CoTHSToNfa 2t
(C) GNferss 1A (D) SPRGE R4

(T RS SARN e AP I IR I OI(F 0T 8

(A) e e (B) I FM

(C) GNferss 1A (D) SIfRCTE R4

S SHfSTHRE SrEreE wel ferar g, fadrat e |
(A) e S (B) SIEAfhE TS
(OEEGEECEIE (D) FSieenfa sEfsm
9 GEATU 58 451 o &9 H oo Tl fomann ST Gehdl, shgamdl © -

(A) Tl gen (B) 3Tt Hem

(C) 9 §& (D) STURH" HE

146.

146.

146.

Which of the following is a Union Territory of India ?

(A) Jammu and Kashmir (B) Goa

(€) Sikkim (D) Telangana
EfeTie (S ket ¢ (@it S ?

(A) o9 IR IR (B) calidt

(C) Pofew (D)  CSCERAN

TIF (G ORTed 6 (FamiiTe o 2
(A) T 8 I (B) ol
(C) B (D) CSCETI
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146. TR e YRA fHeeR gy streen ?
(A) ST 3T HIPHIR (B) T
(C) fafwrn (D) T
146. frefafad § § ®F-91 WA H1 TH g AR o9 § 2
(A) 9 SR FER (B) Then
(C) faferrn (D) T
147. The maximum age limit to obtain a driving licence in India is
(A) 65 years (B) 70 years (C) 80 years (D) Age, no bar
147. SRS GiafeR AZHH e IR A I AR S9! (2= |
(A) 65T (B) 70 = C) 803I=A (D) TR G A T
147. SRS HEFE Sge! 2[@ (GiEfer #i2rm) sieqiE JEiw IBe 26 |
(A) 653K (B) 709 (C) 803K (D) TR I A +72
147. 9RAd grfd Tmedg fogTar o sifgmen e fagren |
(A) R 65 (B) SR 70 (C) <R 80 (D) S gor T
147. 9RG H SEfGT AREH U< i & ATHHhan 1 W § |
(A) 65 d (B) 70 TH (C) 80 ad (D) 3Tg W g Tk Tl
148. Zebra crossing lines marked on roads are meant for :
(A) Reducing speed
(B) Pedestrian crossing
(C) Giving preference to other vehicles
(D) Crossing of Animals
148. 12 4! (T TR fFed A0 Gz 7 2
(A) aifer@e FIRCA
(B) #I=bIS1 Zeil Frsfiq 2'ea
(C) R SGIE SialifEe frtet
(D) s 2217 Biei 230
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148. BT A (T FHR wiaisl @RI

148.

148.

INERISGRESES(AS)

(B) ~IRGHI AR 2e

(C) o e SIfKPl (rel

(D) #I% “AIAR 28

A T St sk 5 faAr A it | 2
(A) Y g9 Qe

(B)  TSEITRRE! T SREAT

(

(

~—"

C) TFA MRGRA @19 2!
D) fSo-SARARE! aREH!

& W iferd Sien hifdT @A fheeh fag 2t © 2
A) TId A KT

e A T IR

C) o JTel I FrefHehar <

D) SHeRl sl YA

B

~—

(
(
(
(

149. Which word is incorrectly spelt ?
(A) Possible (B) Permission (C) Pressure (D) Posess
150. Which of the following is a proper noun ?
(A) Big Ocean (B) Wide River (C) Deep Lake (D) Pacific Ocean
-00o0-
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